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Gk - ERHOIBIEY wEkEK| 0.75 400 500
PR ERiil M 3 2,815 | * 2,200 “FRi M 3 2,714 2,200 2,200 2,200 |45 X
BEEK 3 1,100 wEEK 3 1,400 1,800
Tk M 4 3,753 3,700 | reor o) % 2 1,809 1,800 1,800 1,800
BEEIE 4 1,850 wEEK] 2 1,200 1,500
K I# B3 3 2,815 2,800 &IH W 2 1,809 1,800 1,800 1,800
wEEK 3 1,400 wEEK] 2 1,500 1,600
e i - wRsossaL] ERMEAE | ik [ 0.75 678 600 600 600
ARG - ERHOITIHEY M| 0.75 400 500
AR R v — B 1R FET | MR 3 3,284 | * 2,500 R —fi% 3 3,166 2,700 2,900 3,100
BEEE 3 1,250 BEEE 3 1,800 2,400
1% — i 4 4,379 4300 | FEORUFHD| —i 2 2,111 2,100 2,100 2,100
wEEK 4 2,150 wEEE 2 1,400 1,700
wH | K 3 3,284 3,200 &IH — i 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEEE 2 1,700 1,900
HEREE - wanossms] ERMEHAE | K | 0.75 791 700 700 700
ARG (K - ERHOIEIEY AEREIE| 0.75 400 500
otha® R | i 3 2,346 | * 1,800 i —i 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
T | ik 4 3,128 3,100 | reororRE| —fi% 2 1,508 1,500 1,500 1,500
BwEEE 4 1,550 wEEE 2 1,000 1,200
we | 3 2,346 2,300 [ — i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 BEEE 2 1,200 1,300
WS i - wRposEs| JERME | —i% | 0.75 565 500 500 500
ARG (K - ERHOIBIEY HEEIE] 0.75 300 400
HIRAREEIIE) | PR | iR 3 2,463 | * 1,900 PR —fi& 3 2,375 2,000 2,100 2,300
BwEEK 3 950 BwEEK 3 1,400 1,800
4 — i 4 3,284 3,200 | FEORFED| —ii% 2 1,583 1,500 1,500 1,500
WEER| 4 1,600 wEEK 2 1,000 1,200
I B3 3 2,463 2,400 &I M 2 1,583 1,500 1,500 1,500
wEEK 3 1,200 wEEE 2 1,300 1,400
mEEE iR - wRBOsEEL] ERAE R M ]0.75 593 500 500 500
B GRE - ERHOIBIEY #eEkEK| 0.75 300 400
HAERE ER:] W 3 1,876 | * 1,400 PRI W 3 1,809 1,500 1,600 1,800
BwEEE 3 700 wEEK 3 1,000 1,400
B3 % 4 2,502 2,500 | reoOrR RO % 2 1,206 1,200 1,200 1,200
wEEK] 4 1,250 wEEE] 2 800 1,000
I % 3 1,876 1,800 el % 2 1,206 1,200 1,200 1,200
wEEE 3 900 wEEE 2 1,000 1,100
eS| i - wRsossaL] ERMEAE | ik [ 0.75 452 400 400 400
ARG K - ERHOIEIEY R 0.75 200 300
HoERE FET | R 3 1,876 | * 1,400 R — % 3 1,809 1,500 1,600 1,800
wEEE 3 700 wEEE 3 1,000 1,400
% — i 4 2,502 2500 | FEORUFHD| —i 2 1,206 1,200 1,200 1,200
wEEE 4 1,250 wEEE 2 800 1,000
®H | K 3 1,876 1,800 &I — 2 1,206 1,200 1,200 1,200
wEEE 3 900 BEEE 2 1,000 1,100
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BOAT %
£ g s L | 4= n| el g e F &3 sz
PAE I R v — | S5 SHE A IR — ik - wRsossaL] JERMEMAL | ik [ 0.75 452 400 400 400
ARG K - ERHOIEIHEY AREREE| 0.75 200 300
O ET | iR 3 1,642 | * 1,200 LS| — % 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
Tt —i 4 2,189 2,100 | FEOROFHD| —it 2 1,055 1,000 1,000 1,000
BEEE 4 1,050 wEEE 2 600 800
&KHE | K 3 1,642 1,600 & IH — 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEEE 2 800 900
BRI —fK - wanossms] ERMEHE | —K | 0.75 395 300 300 300
R ERER - B O3EEY g 0.75 200 200
HTRRE ET | R 3 703 | * 500 T — i 3 678 500 500 600
HEEAR] 3 250 BwEEE 3 300 400
P — % 4 938 900 | FE@ROFHD| —f% 2 452 400 400 400
BEER 4 450 BwEEK 2 200 300
wH | 3 703 700 &I — i 2 452 400 400 400
wEER 3 350 BwEEE 2 300 300
IR — ik - wRsosEEy] ERMEAE | i [ 0.75 169 100 100 100
B GRE - ERHOITIEY eI 0.75 100 100
1 FET | R 3 2,346 | * 1,800 ‘PRI — % 3 2,262 1,900 2,000 2,200
BEEK 3 900 wEEK 3 1,300 1,700
TE | 4 3,128 3,100 | FHEORFED| —iiE 2 1,508 1,500 1,500 1,500
BEEIR 4 1,550 BwEEIR 2 1,000 1,200
| ik 3 2,346 2,300 el —% 2 1,508 1,500 1,500 1,500
wakEEl 3 1,150 wwEEK 2 1,200 1,300
e iR - wERBOsEEL]  ERAE R M ]0.75 565 500 500 500
o nilis - ERHOIBIEY #EEE| 0.75 300 400
2= i M 3 1,173 | * 900 BRI} M 3 1,131 900 1,000 1,100
BEER 3 450 wEEK 3 600 800
Tk % 4 1,564 1,500 | FEOROFHD| —fik 2 754 700 700 700
BEEK] 4 750 wEEK] 2 400 500
wW | % 3 1,173 1,100 el —fi% 2 754 700 700 700
wEEE 3 550 wEEE 2 600 600
e iR - wRpossaLl JERMEAE | ik [ 0.75 282 200 200 200
ARG K - ERHOITIHEY BEEIE| 0.75 100 100
3= (R=) ET | ik 3 469 | * 400 gaill —i 3 452 400 400 400
wEEE 3 200 wEEE 3 200 300
T | ik 4 625 600 | FE@EUFHD| —f% 2 301 300 300 300
BwEEE 4 300 wEEE 2 200 200
®H | K 3 469 400 el — 2 301 300 300 300
wEEE 3 200 wEEE 2 200 200
R —fK - wRgosEs| FERMAE | —#% | 0.75 113 100 100 100
ARG - ERHOIEHES HEREAR] 0.75 100 100
HAfn= PRl i 3 1,876 | * 1,400 Rl — i 3 1,809 1,500 1,600 1,800
KR 3 700 wEEE 3 1,000 1,400
ER — % 4 2,502 2500 | rorROFR| —f% 2 1,206 1,200 1,200 1,200
BEEIR 4 1,250 BEER 2 800 1,000
wH | 3 1,876 1,800 wH — 2 1,206 1,200 1,200 1,200
BEEK 3 900 BwEEIK 2 1,000 1,100
BRI — ik - wRsossEy] ERMEAR | M [ 0.75 452 400 400 400
B GRE - ERHOITIEY eI 0.75 200 300
KE FET | iR 3 234 | * 200 PRI — i 3 226 200 200 200
Bkl 3 100 wEEE 3 100 100
P 514 4 312 300 | FEOROFED| i 2 150 100 100 100
BEEIR 4 150 wEEE 2 100 100
il B3 3 234 200 & M 2 150 100 100 100
BEER 3 100 wEEK 2 100 100
IFRIRE| i - wERBosEHaL] AE R AR M 0.75 56 100 100 100
o nilis - ERHOIBIEY BEEK| 0.75 100 100
TR (T | il % 3 3,284 | * 2,500 R M 3 3,166 2,700 2,900 3,100
wEEK| 3 1,250 wEEEl 3 1,800 2,400
Ttk % 4 4,379 4300 | reOrR 0RO % 2 2,111 2,100 2,100 2,100
wEEE 4 2,150 wEEE 2 1,400 1,700
wH | K 3 3,284 3,200 &M —fi% 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEREK 2 1,700 1,900
eS| iR - wRsossiaL] JERMEAE | ik [ 0.75 791 700 700 700
ARG - ERHOIEIHEY BEEIE| 0.75 400 500
THEEEREA) | PRl | i 3 1,642 | * 1,200 FiT — i 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
T | ik 4 2,189 2,100 | FHEORUF#D| — 2 1,055 1,000 1,000 1,000
BEREE 4 1,050 BEEE 2 600 800
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BOAT %
£ g s L | 4= n| el g e F &3 sz
RERRR R o — | T35 (RSER) | &wHE | —ik 3 1,642 1,600 &IH —fi% 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEREE 2 800 900
eS| —i wRBossiaL] JERMEME | ik [ 0.75 395 300 300 300
ARG - ERHOIEIHEY BEREE| 0.75 200 200
FHEREE OALLFHET) | PR | — 3 4,599 | * 3,700 TRl — i 3 4,435 3,900 4,100 4,400
wEEE 3 1,850 wEEE 3 2,700 3,500
% —i 4 6,132 6,100 | FH#OROFED| —iik 2 2,956 2,900 2,900 2,900
wEEE 4 3,050 wEEE 2 1,900 2,400
®HE | K 3 4,599 4,500 &I i 2 2,956 2,900 2,900 2,900
wEEE 3 2,250 wEEE 2 2,400 2,600
FREE i - wanosams] ERENE | K | 0.75 1,108 1,100 1,100 1,100
ARG - ERHOITIEY HEEIE| 0.75 700 900
FHEE QUALEGE) | ZFRT | — A% 3 6,568 | * 5,200 R — i 3 6,333 5,500 5,900 6,300
wEEE 3 2,600 wEEE 3 3,800 5,000
ik —fix 4 8,758 8,700 | FHEORF#HD| —ii 2 4,222 4,200 4,200 4,200
wEEE 4 4,350 BwEEE 2 2,800 3,500
wH | 3 6,568 6,500 il —fi& 2 4,222 4,200 4,200 4,200
BwEEK 3 3,250 BEEK 2 3,500 3,800
R — % - wasosams] EREHE | K | 0.75 1,583 1,500 1,500 1,500
ARG (K - ERHOITEY BEEIE| 0.75 1,000 1,200
SRR (RS | PRl | 3 2,956 2,900 PR — 3 2,851 2,800 2,800 2,800
waEk 3 1,450 BwEEK 3 1,900 2,300
T — % 4 3,942 3900 | FeOr R —f% 2 1,900 1,900 1,900 1,900
AR 4 1,950 wwEEK 2 1,200 1,500
I 8 3 2,956 2,900 ®IH M 2 1,900 1,900 1,900 1,900
BEEK 3 1,450 wEEK 2 1,600 1,700
e iR - wRsosEras] LR R M 0.75 712 700 700 700
TG K - ERHOIBIEY M| 0.75 500 600
JERE (Rt ) | 28 % 10 6,336 6,300 4H W 10 6,111 6,100 6,100 6,100
BwEEK] 10 3,150 BEEK 10 4,100 5,100
g | ik 1 1,876 | * 1,400 ERi| —fi% 1 1,809 1,500 1,600 1,800
wEEE 1 700 wEEE 1 1,000 1,400
e | 1 1,876 1,800 Tk —fi% 1 1,809 1,800 1,800 1,800
BEEE 1 900 BEREE 1 1,200 1,500
®KHE | K 1 1,876 1,800 &IH — i 1 1,809 1,800 1,800 1,800
wEEE 1 900 wEEE 1 1,200 1,500
e % R | i 1 156 100 ’F-iif] — i 1 150 100 100 100
T | iR 1 156 100 T4 —fi% 1 150 100 100 100
®H | K 1 156 100 il —ii 1 150 100 100 100
EIANTRE | L5 1 156 100 “FRi M 1 150 100 100 100
T | ik 1 156 100 % — i 1 150 100 100 100
! 5 1 156 100 R W 1 150 100 100 100
RHEE (G | e | i 1 747 | % 500 i — i 1 719 500 600 700
BwEEE 1 250 BwEEE 1 400 500
EE — 1 747 700 4% — i 1 719 700 700 700
BEEE 1 350 BEEE 1 400 500
wH | R 1 747 700 &I — i 1 719 700 700 700
BwEEE 1 350 BwEEK 1 400 500
RHECEmEM | A | iR 1 373 300 PR — 1 359 300 300 400
wEEE 1 150 BEEK 1 200 300
% % 1 373 300 LR —fi% 1 359 400 400 400
HEER 1 150 wEEE 1 200 300
I 83 1 373 300 &I M 1 359 400 400 400
BEEE 1 150 wEEE 1 200 300
R R s — | B 1 R ERill W 3 4,222 4,200 ‘PRI W 3 4,071 4,000 4,000 4,000
BEEK 3 2,100 wEEk 3 2,700 3,300
Tk B3 4 5,630 5600 | FOROFRO| —f% 2 2,714 2,700 2,700 2,700
BEEE 4 2,800 wEEK 2 1,800 2,200
! B3 3 4,222 4,200 el W 2 2,714 2,700 2,700 2,700
wEEK| 3 2,100 wEEE] 2 2,300 2,500
e iR - wRBoEEL] IE AR S | 0.75 1,017 1,000 1,000 1,000
ARG K - ERHOITIHEY BEEIE| 0.75 700 800
FERE FET | MR 3 4,222 4,200 Eai) — 3 4,071 4,000 4,000 4,000
wEEE 3 2,100 wEEE 3 2,700 3,300
e | 4 5,630 5600 | FOROTFRE| —fiE 2 2,714 2,700 2,700 2,700
BEEE 4 2,800 BEEE 2 1,800 2,200
&KHE | K 3 4,222 4,200 & IH — 2 2,714 2,700 2,700 2,700
wEEE 3 2,100 wEEE 2 2,300 2,500
RERIEE| Ak - wanosss] ERMEMAE | —K | 0.75 1,017 1,000 1,000 1,000
ARG (K - ERHOIEHEY BEREIE| 0.75 700 800
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£ g s L | 4= Ay el g e F &3 sz
R R — | 3R AR PR | ik 3 2,346 2,300 ERiil — % 3 2,262 2,200 2,200 2,200
wEEE 3 1,150 wEEE 3 1,500 1,800
-t —i 4 3,128 3,100 | FEORUFHD| —it 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BEREK 2 1,000 1,200
wKH | K 3 2,346 2,300 &IH — i 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEEE 2 1,200 1,300
RS i - wanosamEs] ERMEHAE | —fK | 0.75 565 500 500 500
ARG - ERHOIEHEY AEREIE| 0.75 300 400
HaAtEaE R i 3 2,346 2,300 Tl —i 3 2,262 2,200 2,200 2,200
wEEE 3 1,150 wEEE 3 1,500 1,800
Te | ik 4 3,128 3,100 | re#orR0FRE| % 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 BwEEE 2 1,000 1,200
we | 3 2,346 2,300 il — i 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 BwEEK 2 1,200 1,300
S i - wRsosEs| FERMTE | —i% | 0.75 565 500 500 500
R ERER - BEAHOEIEY REREIE) 0.75 300 400
HEHERE PR R 3 2,346 2,300 BRI} — 3 2,262 2,200 2,200 2,200
BwEEK 3 1,150 BEEK 3 1,500 1,800
i —fi 4 3,128 3,100 | FEORFED| —ii% 2 1,508 1,500 1,500 1,500
BwEEK 4 1,550 BwEEK 2 1,000 1,200
®wm | i 3 2,346 2,300 w’H —f 2 1,508 1,500 1,500 1,500
BwEEK 3 1,150 BEEK 2 1,200 1,300
I — % - wasosams] EREHE | K | 0.75 565 500 500 500
kelouEiliN - FERHOEEY BEkER] 0.75 300 400
HetRaE (R | R L5 3 2,111 2,100 ‘PRI M 3 2,035 2,000 2,000 2,000
BEEK 3 1,050 wEEK 3 1,300 1,600
Tk M 4 2,815 2800 | reor 0RO % 2 1,357 1,300 1,300 1,300
BEEIE 4 1,400 wEEK] 2 900 1,100
wIH -fi% 3 2,111 2,100 el W 2 1,357 1,300 1,300 1,300
wEEK 3 1,050 wEEK] 2 1,100 1,200
e i - wRsossaL] ERMEAE | ik [ 0.75 508 500 500 500
ARG - ERHOITIHEY M| 0.75 300 400
BTHREDE FET | MR 3 2,815 2,800 Ea) — 3 2,714 2,700 2,700 2,700
BEEE 3 1,400 BEEE 3 1,800 2,200
-t —i 4 3,753 3,700 | ruor o) —f% 2 1,809 1,800 1,800 1,800
wEEK 4 1,850 wEEE 2 1,200 1,500
wH | K 3 2,815 2,800 &IH — i 2 1,809 1,800 1,800 1,800
wEEE 3 1,400 wEEE 2 1,500 1,600
HEREE i - wRgogEs| FERMAE | % | 0.75 678 600 600 600
ARG (K - ERHOIEIEY AEREIE| 0.75 400 500
HsEa®E R | i 3 3,284 3,200 T —i 3 3,166 3,100 3,100 3,100
wEEE 3 1,600 wEEE 3 2,100 2,600
% — 4 4,379 4300 | reoOrROFR| % 2 2,111 2,100 2,100 2,100
BwEEE 4 2,150 wEEE 2 1,400 1,700
we | 3 3,284 3,200 [ — i 2 2,111 2,100 2,100 2,100
BwEEE 3 1,600 BEEE 2 1,700 1,900
WS i - wRposEs| JERME | —i% | 0.75 791 700 700 700
ARG (K - ERHOITIEY HEEIE] 0.75 500 600
HOERE FET | R 3 4,692 4,600 PR — 3 4,524 4,500 4,500 4,500
gkl 3 2,300 BwEEK 3 3,000 3,700
4 — % 4 6,256 6,200 | FOROFR®| —iE 2 3,016 3,000 3,000 3,000
WEER| 4 3,100 wEEK 2 2,000 2,500
I B3 3 4,692 4,600 &I M 2 3,016 3,000 3,000 3,000
wEEK 3 2,300 wEEE 2 2,500 2,700
mEEE iR - wRBOsEEL] ERAE R M [0.75 1,131 1,100 1,100 1,100
BakE A - FERHOEEY BEkEK| 0.75 800 900
1R = ER: L 3 1,642 1,600 PRI M 3 1,583 1,500 1,500 1,500
BwEEE 3 800 wEEK 3 1,000 1,200
KR SR 4 2,189 2,100 | FEORFHD| —fiE 2 1,055 1,000 1,000 1,000
Bk 4 1,050 wEEE] 2 600 800
I % 3 1,642 1,600 &I % 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEEE 2 800 900
eS| i - wRsossaL] ERMEAE | ik [ 0.75 395 300 300 300
ARG K - ERHOIEIEY R 0.75 200 200
o FET | R 3 2,346 2,300 FRi —fi% 3 2,262 2,200 2,200 2,200
wEEE 3 1,150 wEEE 3 1,500 1,800
4% —i 4 3,128 3,100 | reaOrR0FHR| —fi% 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 wEEE 2 1,000 1,200
®H | K 3 2,346 2,300 &IH — 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 BEEE 2 1,200 1,300
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BOAT %
£ g s L | 4= n| el g e &3 sz

s R o — | 5 2B EREE - wRgoEEs| FERMAE | % | 0.75 565 500 500 500
ARG K - ERHOIEIHEY AREREE| 0.75 300 400

KB FET | iR 3 469 400 il —fi 3 452 400 400 400
wEEE 3 200 wEEE 3 200 300

Tt —i 4 625 600 | FE@EUFHD| —f% 2 301 300 300 300
BEEE 4 300 wEEE 2 200 200

&KHE | K 3 469 400 & IH — i 2 301 300 300 300
wEEE 3 200 wEEE 2 200 200

BRI —fK - wanossms] ERMEHE | —K | 0.75 113 100 100 100
R ERER - B O3EEY g 0.75 100 100

AR AMECEM) | /PR | — % 3 3,753 3,700 Tl i 3 3,619 3,600 3,600 3,600
wEEE 3 1,850 BwEEE 3 2,400 3,000

EE — % 4 5,004 5,000 | FHOROFED| —iik 2 2,412 2,400 2,400 2,400
wEEE 4 2,500 BwEEK 2 1,600 2,000

wH | 3 3,753 3,700 &I — i 2 2,412 2,400 2,400 2,400
wEEE 3 1,850 BwEEE 2 2,000 2,200

nEEE R - wRsosEEy] ERMEAE | i [ 0.75 904 900 900 900
B GRE - ERHOIEHES BEEIE| 0.75 600 700

fUfEE GREE) | el | —iR 3 1,876 1,800 R} — % 3 1,809 1,800 1,800 1,800
wEEK 3 900 wEEK 3 1,200 1,500

T | R 4 2,502 2,500 | FHEORFED| —iiF 2 1,206 1,200 1,200 1,200
wEEE 4 1,250 BEEK 2 800 1,000

| R 3 1,876 1,800 el —% 2 1,206 1,200 1,200 1,200
wHekER| 3 900 wwEEK 2 1,000 1,100

e iR - wERBOsEEL]  ERAE R M ]0.75 452 400 400 400
TGRE K - ERHOIBIEY #EEE| 0.75 300 300

FHEEE (S AT | 2P 54 3 3,942 3,900 R} .14 3 3,801 3,800 3,800 3,800
BwEEE 3 1,950 wEEK 3 2,500 3,100

Tk % 1 5,256 5,200 | F#OROFED| —iE 2 2,534 2,500 2,500 2,500
BEEK] 4 2,600 wEEK] 2 1,700 2,100

wW | % 3 3,942 3,900 el —fi% 2 2,534 2,500 2,500 2,500
wEEE 3 1,950 wEEE 2 2,100 2,300

e iR - wRpossaLl JERMEAE | ik [ 0.75 950 900 900 900
ARG K - ERHOITIHEY BEEIE| 0.75 600 700

BHEE (IGALL LG | ZFRT | — A% 3 5,630 5,600 2T} i 3 5,428 5,400 5,400 5,400
wEEE 3 2,800 wEEE 3 3,600 4,500

T | ik 4 7,507 7,500 | FH#OROGFED| —iik 2 3,619 3,600 3,600 3,600
BwEEE 4 3,750 wEEE 2 2,400 3,000

w’H | % 3 5,630 5,600 w”H — i 2 3,619 3,600 3,600 3,600
wEEE 3 2,800 wEEE 2 3,000 3,300

R —fK - wRgosEs| FERMAE | —#% | 0.75 1,357 1,300 1,300 1,300
ARG - ERHOITHEY HEREIE| 0.75 900 1,100

RERERWM) | el | — ik 3 13,192 13,000 i — i 3 10,357 10,000 10,000 10,000
wEEE 3 6,500 wEEE 3 7,600 8,800

ER — % 4 26,384 26,000 | FEOROFRD|  —fik 2 10,357 10,000 10,000 10,000
BwEEE 4 13,000 BEEE 2 7,600 8,800

wH | iR 3 26,384 26,000 &I — % 2 13,809 13,000 13,000 13,000
wEEE 3 13,000 BwEEK 2 13,000 13,000

W - wasosams] EREHE | K | 0.75 2,589 2,500 2,500 2,500
B GRE ERHOITIEY HEEIE| 0.75 2,100 2,300

TAHE — % 1 2,111 2,100 —fi% 1 2,035 2,000 2,000 2,000
Bk 1 1,050 wEEE 1 1,300 1,600

Sk 5 1 312 300 M 1 301 300 300 300

BAANT =R — % 1 312 300 — % 1 301 300 300 300

KT () 55 1 1,446 1,400 M 1 1,438 1,400 1,400 1,400
BEEE 1 700 wEEK 1 900 1,100

KT CEmE ) W 1 723 700 W 1 719 700 700 700
BEEE 1 350 wEEK 1 500 600

R (1, 3 A) % 1 477 400 M 1 474 500 500 500
wEEK 1 200 wEEK] 1 300 400

T (1 4l ) % 1 300 % 1 359 400 400 400
wEEE 1 150 wEEE 1 300 300

PRI s o — | 3 SAE A 2R FET | R 3 2,500 Rl —fi& 3 3,166 2,700 2,900 3,100
wEEE 3 1,250 wEEE 3 1,800 2,400

Tk | ik 4 4,379 4300 | reoROFERD| % 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 BEEE 2 1,400 1,700

&KHE | K 3 3,284 3,200 & IH — 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEEE 2 1,700 1,900

RERIEE| Ak - wanossms] ERMEMAE | —K | 0.75 791 700 700 700
ARG (K - ERHOIEHEY BEREIE| 0.75 400 500
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BOAT %
£ g s L | 4= Ay el g e F &3 sz
KM R — | AR FET | MR 3 3,284 | % 2,500 Ea) — % 3 3,166 2,700 2,900 3,100
wEEE 3 1,250 wEEE 3 1,800 2,400
-t —i 4 4,379 4300 | reOrROFERD| A% 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 BEREK 2 1,400 1,700
wKH | K 3 3,284 3,200 &IH — i 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEEE 2 1,700 1,900
BERIEE| A - wanosamEs] ERMEHAE | —fK | 0.75 791 700 700 700
ARG - ERHOIEHEY AEREIE| 0.75 400 500
WTHESE ) | PR | 3 3,167 | * 2,500 i —i 3 3,053 2,600 2,800 3,000
wEEE 3 1,250 wEEE 3 1,800 2,400
Te | ik 4 4,222 4200 | reoOROFR| % 2 2,035 2,000 2,000 2,000
wEEE 4 2,100 BwEEE 2 1,300 1,600
we | 3 3,167 3,100 il — i 2 2,035 2,000 2,000 2,000
wEEE 3 1,550 BwEEK 2 1,700 1,800
S i - wRsosEs| FERMTE | —i% | 0.75 763 700 700 700
R ERER - BEAHOEIEY REREIE) 0.75 400 500
H3fn= PR | M 3 938 | * 700 “FRiT — 3 904 700 800 900
BwEEK 3 350 BEEK 3 500 700
P — % 4 1,251 1,200 | FEORFHD| —fi% 2 603 600 600 600
BwEEK 4 600 BwEEK 2 400 500
wH | 3 938 900 w’H —fi% 2 603 600 600 600
wEEkl 3 450 BEEK 2 500 500
mEEE iR - wRBosEs] ERMEME | & | 0.75 226 200 200 200
Gk - ERHOIBIEY #EkEK| 0.75 100 100
AR (A %) ERiil L5 3 703 | * 500 ‘PRl M 3 678 500 500 600
BEEK 3 250 wEEK 3 300 400
Fik M 4 938 900 | rE@ROTFED| % 2 452 400 400 400
BEEIE 4 450 wEEK] 2 200 300
wIH -fi% 3 703 700 el W 2 452 400 400 400
wEEK 3 350 wEEK] 2 300 300
e i - wRsossaL] ERMEAE | ik [ 0.75 169 100 100 100
ARG - ERHOITIHEY M| 0.75 100 100
KE FE | ik 3 234 | % 200 R — % 3 226 200 200 200
BEEE 3 100 BEEE 3 100 100
-t — % 4 312 300 | FEORUFHD| —fik 2 150 100 100 100
wEEK 4 150 wEEE 2 100 100
®KH | K 3 234 200 &IH — i 2 150 100 100 100
wEEE 3 100 wEEE 2 100 100
HEREE - wmanossms] ERMEHAE | K | 0.75 56 100 100 100
ARG (K - ERHOIEIEY AEREIE| 0.75 100 100
LoYE—sarE| Rl | ik 3 1,876 | * 1,400 SRl — % 3 1,809 1,500 1,600 1,800
wEEE 3 700 wEEE 3 1,000 1,400
% — 4 2,502 2500 | raOrOFR| A% 2 1,206 1,200 1,200 1,200
BwEEE 4 1,250 wEEE 2 800 1,000
w | 3 1,876 1,800 [ — 2 1,206 1,200 1,200 1,200
BwEEE 3 900 BEEE 2 1,000 1,100
nEEE —iR - wRBOsEL] ERMEME | M | 0.75 452 400 400 400
ARG (K - EAHOEIEY HEEIE] 0.75 200 300
EHE (WALTM) | ZFRT | — A% 3 1,971 | * 1,500 PR —fi& 3 1,900 1,600 1,700 1,900
BwEEK 3 750 BwEEK 3 1,100 1,500
4 — % 4 2,628 2,600 | FeOrR R —f% 2 1,267 1,200 1,200 1,200
WEER| 4 1,300 wEEK 2 800 1,000
I 83 3 1,971 1,900 &I M 2 1,267 1,200 1,200 1,200
wEEK 3 950 wEEE 2 1,000 1,100
mEEE iR - wRBOsEEL] ERAE R M ]0.75 475 400 400 400
B GRE - ERHOIBIEY #eEkEK| 0.75 200 300
FhmE (2 AL BB | 2R L5 3 2,815 | * 2,200 PRI 514 3 2,714 2,300 2,500 2,700
BwEEE 3 1,100 wEEK 3 1,600 2,100
B3 % 4 3,753 3,700 | reor o) % 2 1,809 1,800 1,800 1,800
Bk 4 1,850 wEEE] 2 1,200 1,500
I % 3 2,815 2,800 KT % 2 1,809 1,800 1,800 1,800
wEEE 3 1,400 wEEE 2 1,500 1,600
eS| i - wRsossaL] ERMEAE | ik [ 0.75 678 600 600 600
A3 | %% - ERHOIEIEY R 0.75 400 500
H2E A FET | R 1 1,173 | = 900 R — % 1 1,131 900 1,000 1,100
wEEE 1 450 BEEE 1 600 800
T | ik 1 1,173 1,100 | FOROFHD| % 1 1,131 1,100 1,100 1,100
wEEE 1 550 BwEEE 1 700 900
®H | K 1 1,173 1,100 &I — 1 1,131 1,100 1,100 1,100
wEEE 1 550 wEREE 1 700 900
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PR HI X R 57— | &7 ) 3R FET | 1 156 100 FRi —fi% 1 150 100 100 100
T | R 1 156 100 Ptk — 1 150 100 100 100
wKH | K 1 156 100 &M —fi 1 150 100 100 100
wHE@mEm) | | 1 1,495 | 900 BRI} —fi& 1 1,438 1,000 1,200 1,400
BEEE 1 450 BEEK 1 700 1,000
% —f% 1 1,495 1,400 T4 —fi% 1 1,438 1,400 1,400 1,400
AR 1 700 BEER 1 900 1,100
I L5 1 1,495 1,400 ] M 1 1,438 1,400 1,400 1,400
BEEIE 1 700 BEER 1 900 1,100
AR CRmER) | Rl M 1 747 700 ‘PRI M 1 719 500 600 700
BEEE 1 350 BEER 1 400 500
Tk % 1 747 700 Ttk M 1 719 700 700 700
BEEK 1 350 wEEK] 1 500 600
KIH % 1 747 700 el % 1 719 700 700 700
wEEE 1 350 wEEE 1 500 600
O/ 3mEm) | FET | AR 1 493 400 ERil —fi% 1 474 400 400 500
BEREK 1 200 BEEE 1 300 400
ERE B3 1 493 400 T4 — i 1 474 500 500 500
wEEE 1 200 wEEE 1 300 400
KHE | K 1 493 400 A& IH —ik 1 474 500 500 500
wEEE 1 200 BEEE 1 300 400
R (L amtem) | ERT | iR 1 373 300 ’F-iif] — i 1 359 300 300 400
wEEE 1 150 wEEK 1 200 300
| 1 373 300 T —i 1 359 400 400 200
wEEE 1 150 wEEE 1 300 300
w’W | 1 373 300 il — 1 359 400 400 400
BwEEE 1 150 BwEEE 1 300 300
Wl U R 5 — | 5 1 BE AR PR 3 2,346 | * 1,800 i — i 3 2,262 1,900 2,000 2,200
wEEE 3 900 BwEEE 3 1,300 1,700
7 i 4 3,128 3,100 | r#or0rRE| % 2 1,508 1,500 1,500 1,500
BwEEE 4 1,550 BEEE 2 1,000 1,200
wH | R 3 2,346 2,300 &I — i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 BEEK 2 1,200 1,300
W — i - wasosams] EREHE | K | 0.75 565 500 500 500
AR K - ERHOITIEY K| 0.75 300 400
H2ERE R | R 3 1,876 | * 1,400 PRI — % 3 1,809 1,500 1,600 1,800
HwEEK 3 700 BwEEK 3 1,000 1,400
P — % 4 2,502 2500 | FeOROFRE| % 2 1,206 1,200 1,200 1,200
HEkER| 4 1,250 BEER 2 800 1,000
I B 3 1,876 1,800 wIH M 2 1,206 1,200 1,200 1,200
BEEK 3 900 BEEK 2 1,000 1,100
e iR - wERBoEHEL] LR R M 0.75 452 400 400 400
BGRE K - ERHOIBIEY BEEK| 0.75 200 300
HIERE ER:) A% 3 703 | * 500 KRl W 3 678 500 500 600
wEEE 3 250 wEEK 3 300 400
Th | 4 938 900 | FORUF®@| —fi% 2 452 400 400 400
wEEE 4 450 wEEE 2 200 300
KHE | K 3 703 700 A& IH —i 2 452 400 400 400
wEEE 3 350 BEEE 2 300 300
HEREE i - wanossms] ERMEHAE | —f% | 0.75 169 100 100 100
ARG K - ERHOITIHEY BEEIE| 0.75 100 100
AR R | i 3 3,753 | * 3,000 FiT — i 3 3,619 3,200 3,400 3,600
wEEE 3 1,500 wEEE 3 2,200 2,900
-t — i 4 5,004 5000 | FEORUFRD| —fik 2 2,412 2,400 2,400 2,400
BwEEE 4 2,500 wEREE 2 1,600 2,000
®H | K 3 3,753 3,700 &IH i 2 2,412 2,400 2,400 2,400
3 1,850 BwEEE 2 2,000 2,200
R — i - wanosams] ERENE | —K | 0.75 904 900 900 900
ARG (K - ERHOITIEY EEIE| 0.75 600 700
HSRARE Fal | 3 2,346 | * 1,800 i — i 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
Fik —fix 4 3,128 3,100 | FEORUF#D| —% 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 wEEE 2 1,000 1,200
wH | R 3 2,346 2,300 &I — i 2 1,508 1,500 1,500 1,500
gkl 3 1,150 BwEEK 2 1,200 1,300
nEEE iR - wAgosaras] ERMEHE | % | 0.75 565 500 500 500
Gk - ERHOITEY K| 0.75 300 400
1A= ERill M 3 L173 | * 900 PRl M 3 1,131 900 1,000 1,100
BwEEE 3 450 BEERl 3 600 800
P —fi 4 1,564 1,500 | FHOROTFH| —fi% 2 754 700 700 700
BEEK 4 750 BEEKl 2 400 500
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BRI R — | 5 1 FnEE wKHE | K 3 1,173 1,100 &IH —fi% 2 754 700 700 700
wEEE 3 550 wEREE 2 600 600
WEREE i wanossEs] ERMERE | —f | 0.75 282 200 200 200
ARG - ERHOIEIHEY BEREE| 0.75 100 100
H2fnE ET | iR 3 2,346 | * 1,800 TR — i 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
% —i 4 3,128 3,100 | reaorRorH| —fi% 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 wEEE 2 1,000 1,200
®HE | K 3 2,346 2,300 &IH i 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEEE 2 1,200 1,300
FREE i - wanosams] EREAE | K | 0.75 565 500 500 500
ARG - ERHOITIEY HEEIE| 0.75 300 400
H3fn= Rl | i 3 938 | * 700 ERil — % 3 904 700 800 900
wEEE 3 350 wEEE 3 500 700
ik —fix 4 1,251 1,200 | rOROFHD| 2 603 600 600 600
wEEE 4 600 BwEEE 2 400 500
wH | 3 938 900 & — 2 603 600 600 600
BwEEK 3 450 BEEK 2 500 500
nEfEE| iR - wAnosgras] ERMEHE | % | 0.75 226 200 200 200
ARG (K - ERHOITEY BEEIE| 0.75 100 100
A= PR | M 3 703 | * 500 PR — 3 678 500 500 600
BwEEK 3 250 BwEEK 3 300 400
P % 4 938 900 | FE@ROFHD| % 2 452 400 400 400
AR 4 450 BEER 2 200 300
i 83 3 703 700 ] M 2 452 400 400 400
BEEK 3 350 BEEK 2 300 300
e iR - wRsosEras] LR R M 0.75 169 100 100 100
TG K - ERHOIBIEY K| 0.75 100 100
CIGEIES ESin] % 3 985 | * 700 LR} W 3 950 700 800 900
wEEK 3 350 wEEK 3 500 700
Th | 4 1,314 1,300 | FHOROF#H| —f% 2 633 600 600 600
wEEE 4 650 wEEE 2 400 500
KHE | K 3 985 900 A& IH —iik 2 633 600 600 600
BEEE 3 450 BEREE 2 500 500
BRI A - wanossEs] ERMEHE | —f% | 0.75 339 200 200 300
ARG K - ERHOITHEY BEREIE| 0.75 100 200
KE R | ik 3 469 400 ’F-fif] — % 3 452 400 400 400
wEEE 3 200 wEEE 3 200 300
T | ik 4 625 600 | FHORUFHRD| —fik 2 301 300 300 300
wEEE 4 300 wEEE 2 200 200
®HE | K 3 469 400 &IH — 2 301 300 300 300
wEEE 3 200 BwEREE 2 200 200
RF | — i - wanossms] ERENE | —K | 0.75 113 100 100 100
ARG K - ERHOITIEY HEREIE| 0.75 100 100
Hlvsyz—vars | R | R 3 1,055 | * 800 ERi — % 3 1,017 800 900 1,000
BwEEE 3 400 BwEEE 3 600 800
P —fix 4 1,407 1,400 | FHOROFHD| —f% 2 678 600 600 600
k| 4 700 BwEEK 2 400 500
w’H | 3 1,055 1,000 w"H — 2 678 600 600 600
gkl 3 500 BEEK 2 500 500
R A - wRBosEs] ERMEME | i | 0.75 254 200 200 200
TGk - ERHOEIEY K| 0.75 100 100
morsyr—vaviE | R i 3 1,407 | * 1,000 “FRiT M 3 1,357 1,100 1,200 1,300
wEEK 3 500 BEERl 3 700 1,000
T W 4 1,876 1,800 | FEOROIFHD| ik 2 904 900 900 900
BEEE 4 900 BEER 2 600 700
I 8 3 1,407 1,400 wH W 2 904 900 900 900
BwEEE 3 700 BEEK 2 700 800
mEEE iR - wRsosaras] LR R M ]0.75 339 300 300 300
Gk - ERHOIBIEY K| 0.75 200 200
TR (TEEM) |l % 3 2,346 | * 1,800 R} -f% 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
e | 4 3,128 3,100 | FEORGF#HD| —fiE 2 1,508 1,500 1,500 1,500
wEEK 4 1,550 wEREK 2 1,000 1,200
wKH | K 3 2,346 2,300 &IH —fi% 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 BEEE 2 1,200 1,300
RS — i - wanosams] ERERE | —fK | 0.75 565 500 500 500
ARG - ERHOITHEY AEREIE| 0.75 300 400
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PRI R 2 — | 353 (RER) | e | —ik 3 1,173 | * 900 FRi —fi% 3 1,131 900 1,000 1,100
wEEE 3 450 wEEE 3 600 800
-t —i 4 1,564 1,500 | FOROFHD| % 2 754 700 700 700
BEEE 4 750 BEREK 2 400 500
®KH | K 3 1,173 1,100 &M — i 2 754 700 700 700
wEEE 3 550 wEEE 2 600 600
BERIEE| A - wanosamEs] ERMEHAE | —fK | 0.75 282 200 200 200
ARG - ERHOIEHEY AEREIE| 0.75 100 100
Fhes (LA ARUFRO) | PR | iR 3 2,956 | * 2,200 i —i 3 2,851 2,400 2,600 2,800
wEEE 3 1,100 wEEE 3 1,600 2,200
Te | ik 4 3,942 3900 | ruOrROFR| % 2 1,900 1,900 1,900 1,900
wEEE 4 1,950 BwEEE 2 1,200 1,500
we | 3 2,956 2,900 il — i 2 1,900 1,900 1,900 1,900
wEEE 3 1,450 BwEEK 2 1,600 1,700
S i - wRsosEs| FERMTE | —i% | 0.75 712 600 600 700
R ERER - BEAHOEIEY REREIE) 0.75 400 500
Brems (S ALLE [ 4FRT | — % 3 4,222 | % 3,300 ZFRi — % 3 4,071 3,500 3,700 4,000
BwEEK 3 1,650 BEEK 3 2,400 3,200
i —fi 4 5,630 5600 | FEOROFRO| —fE 2 2,714 2,700 2,700 2,700
BwEEK 4 2,800 BwEEK 2 1,800 2,200
®wm | i 3 4,222 4,200 w’H —f 2 2,714 2,700 2,700 2,700
wEEkl 3 2,100 BEEK 2 2,300 2,500
R A - wRBOsEs] ERMEME | & | 0.75 1,017 900 900 1,000
Gk - ERHOIBIEY wEkEK| 0.75 600 800
[ISULUES 2Rl L5 3 2,346 2,300 “FRi M 3 2,262 2,200 2,200 2,200
BEEK 3 1,150 BEEKl 3 1,500 1,800
Tk M 4 3,128 3,100 | reor o) % 2 1,508 1,500 1,500 1,500
BEEIE 4 1,550 BEER 2 1,000 1,200
K I# -fi 3 2,346 2,300 &IH W 2 1,508 1,500 1,500 1,500
wEEK 3 1,150 wEEK] 2 1,200 1,300
e i - wRsossaL] ERMEAE | ik [ 0.75 565 500 500 500
ARG - ERHOITIHEY M| 0.75 300 400
R FET | R 1 1,876 | * 1,400 FRi —fi% 1 1,809 1,500 1,600 1,800
BEEE 1 700 BEREE 1 1,000 1,400
-t —i 1 1,876 1,800 % — i 1 1,809 1,800 1,800 1,800
wEEE 1 900 wEEE 1 1,200 1,500
wH | K 1 1,876 1,800 &IH — i 1 1,809 1,800 1,800 1,800
wEEE 1 900 BwEEE 1 1,200 1,500
RER (GG | P | iR 1 373 300 T — i 1 359 300 300 300
wEEE 1 150 wEEE 1 200 200
s | 1 373 300 % — i 1 359 300 300 300
BwEEE 1 150 BwEEE 1 200 200
®H | K 1 373 300 el — i 1 359 300 300 300
BwEEE 1 150 BwEEE 1 200 200
R R s — | TSRS Rl | 3 1,407 | * 1,000 ERi — i 3 1,357 1,100 1,200 1,300
BwEEE 3 500 BwEEE 3 700 1,000
P —fix 4 1,876 1,800 | FHORVF#| —fi% 2 904 900 900 900
BwEEE 4 900 BwEEK 2 600 700
w’H | 3 1,407 1,400 w"H —fi& 2 904 900 900 900
gkl 3 700 BEEK 2 700 800
R A - wRBosEs] ERMEME | i | 0.75 339 300 300 300
TGk - ERHOEIEY K| 0.75 200 200
FoERE ERiil W 3 469 400 “FRi - 3 452 400 400 400
wEEK 3 200 BEERl 3 200 300
T W 4 625 600 | FEOROFED| % 2 301 300 300 300
BEEE 4 300 BEER 2 200 200
I 8 3 469 400 ] W 2 301 300 300 300
BwEEE 3 200 BEEK 2 200 200
mEEE iR - wRsosaras] LR R M ]0.75 113 100 100 100
BSSGUEIlN - EAKH O3S e 0.75 100 100
FIERE ER:) % 3 469 400 R} B3 3 452 400 400 400
wEEE 3 200 wEEE 3 200 300
e | 4 625 600 | FORUFHE| —fi 2 301 300 300 300
wEEK 4 300 wEREK 2 200 200
®KHE | K 3 469 400 &IH — i 2 301 300 300 300
wEEE 3 200 BEEE 2 200 200
BRI A - wanosams] ERERE | —fK | 0.75 113 100 100 100
ARG - ERHOITHEY AEREIE| 0.75 100 100
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T R — | AR AR PR | ik 3 1,173 | * 900 R —f% 3 1,131 900 1,000 1,100
wEEE 3 450 wEEE 3 600 800
-t —i 4 1,564 1,500 | FOROFHD| % 2 754 700 700 700
BEEE 4 750 BEREK 2 400 500
®KH | K 3 1,173 1,100 &M — i 2 754 700 700 700
wEEE 3 550 wEEE 2 600 600
BERIEE| A - wanosamEs] ERMEHAE | —fK | 0.75 282 200 200 200
ARG - ERHOIEHEY AHEREAR] 0.75 100 100
WA R i 3 2,815 | * 2,200 ZFRiff —fi% 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 wEEE 3 1,600 2,100
Te | ik 4 3,753 3,700 | raorR0rHRE| % 2 1,809 1,800 1,800 1,800
BEER] 4 1,850 BwEEE 2 1,200 1,500
we | 3 2,815 2,800 il — i 2 1,809 1,800 1,800 1,800
BEER 3 1,400 BEER 2 1,500 1,600
S i - wRsosEs| FERMTE | —i% | 0.75 678 600 600 600
R ERER - BEAHOEIEY REREIE) 0.75 400 500
HOERE PR R 3 2,815 | * 2,200 BRI} — 3 2,714 2,300 2,500 2,700
BEEK 3 1,100 BEEIR 3 1,600 2,100
i — i 4 3,753 3,700 | FEOROFHD| —ik 2 1,809 1,800 1,800 1,800
BEEIR 4 1,850 BwEEIK 2 1,200 1,500
wL | ik 3 2,815 2,800 il —fi& 2 1,809 1,800 1,800 1,800
waEk 3 1,400 BwEEIR 2 1,500 1,600
mEEE iR - wRBosEs] ERMEME | & | 0.75 678 600 600 600
B - ERHOIBIEY wEkEK| 0.75 400 500
FI0ERE ERiil M 3 2,815 | * 2,200 “FRi M 3 2,714 2,300 2,500 2,700
BEER 3 1,100 wEEK 3 1,600 2,100
T4 M 4 3,753 3,700 | FOROTHD| —HE 2 1,809 1,800 1,800 1,800
BEER 4 1,850 wEEK] 2 1,200 1,500
K I# -fi 3 2,815 2,800 &IH W 2 1,809 1,800 1,800 1,800
wEEK 3 1,400 wEEK] 2 1,500 1,600
e i - wRsossaL] ERMEAE | ik [ 0.75 678 600 600 600
ARG - ERHOITIHEY M| 0.75 400 500
3 (K=) FET | MR 3 703 | * 500 R — 3 678 500 500 600
BEEE 3 250 BEEE 3 300 400
% — % 4 938 900 | FEORUFHD| —f% 2 452 400 400 400
wEEK 4 450 wEEE 2 200 300
®KH | K 3 703 700 &IH — i 2 452 400 400 400
wEEE 3 350 wEEE 2 300 300
HEREE - wanossms] ERMEHAE | K | 0.75 169 100 100 100
ARG (K - ERHOIEIEY HEREAR] 0.75 100 100
HAFE SRR | 3 703 | * 500 ZFRiff —fi% 3 678 500 500 600
wEEE 3 250 wEEE 3 300 400
% — % 4 938 900 | FE@RUFHD| —f% 2 452 400 400 400
HEER] 4 450 wEEE 2 200 300
w’H | 3 703 700 il — % 2 452 400 400 400
BEEIR 3 350 BEEE 2 300 300
IR — ik - wanossras| JERMEHE | % | 0.75 169 100 100 100
ko nili - ERHOIEHES HEEIE] 0.75 100 100
F5fE (B =) PR | M 3 703 | * 500 PR — 3 678 500 500 600
BEER 3 250 BwEEK 3 300 400
% — i 4 938 900 | DR UF#HD| —ik 2 452 400 400 400
Bkl 4 450 wEEK 2 200 300
I 83 3 703 700 &I M 2 452 400 400 400
BEkER 3 350 wEEE 2 300 300
mEEE iR - wRBOsEEL] ERAE R ] 0.75 169 100 100 100
o niliy - ERHOIBIEY #eEkEK| 0.75 100 100
KE (1) ERiil L3 3 469 400 ‘PRI W 3 452 400 400 400
BEEK 3 200 wEEK 3 200 300
Pk A 4 625 600 | FirOROFHD| —hk 2 301 300 300 300
wEEK] 4 300 wEEE] 2 200 200
I % 3 469 400 el % 2 301 300 300 300
wEEE 3 200 wEEE 2 200 200
eS| i - wRposEmy] EEMEAE | i 075 113 100 100 100
ARG K - ERHOIEIEY R 0.75 100 100
KIE(2) FET | 3 234 200 Ea) —fi% 3 226 200 200 200
wEEE 3 100 wEEE 3 100 100
T — % 4 312 300 | FEORUFHRD| —fik 2 150 100 100 100
wEEE 4 150 wEEE 2 100 100
®H | K 3 234 200 &I i 2 150 100 100 100
wEEE 3 100 BEEE 2 100 100
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i I e v — | KB (2) EREE - wRgosEEs| FERMAE | % | 0.75 56 100 100 100
ARG K - ERHOIEIHEY AREREE| 0.75 100 100

TR (L) | Al | — i 3 3,284 | * 2,500 il —fi 3 3,166 2,700 2,900 3,100
wEEE 3 1,250 wEEE 3 1,800 2,400

Tt — i 4 4,379 4300 | reoroFER) A% 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 wEEE 2 1,400 1,700

&KHE | K 3 3,284 3,200 & IH — 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEEE 2 1,700 1,900

BRI —fK - wanossms] ERMEHE | —K | 0.75 791 700 700 700
R ERER - B O3EEY g 0.75 400 500

TR GEREUN | Rl | i 3 1,642 | * 1,200 Tl i 3 1,583 1,300 1,400 1,500
wEEE 3 600 BwEEE 3 900 1,200

P —i 4 2,189 2,100 | rOrROFR| —fi% 2 1,055 1,000 1,000 1,000
wEEE 4 1,050 BwEEK 2 600 800

wH | 3 1,642 1,600 &I — i 2 1,055 1,000 1,000 1,000
wEEE 3 800 BwEEE 2 800 900

nEEE R - wAgosaras] JERMEHE | % | 0.75 395 300 300 300
B GRE - ERHOITIEY BEEIE| 0.75 200 200

BB (AL FEED) | PR | —fi% 3 2,628 | * 2,100 PRI —f 3 2,534 2,200 2,300 2,500
wEEK 3 1,050 wEEK 3 1,500 2,000

T | R 4 3,504 3,500 | FHEORFED| —iiE 2 1,689 1,600 1,600 1,600
BEEK 4 1,750 BEEK 2 1,100 1,300

| ik 3 2,628 2,600 el —% 2 1,689 1,600 1,600 1,600
wHekER| 3 1,300 wwEEK 2 1,400 1,500

e iR - wERBOsEEL]  ERAE R M ]0.75 633 600 600 600
TGRE K - ERHOIBIEY #EEE| 0.75 400 500

FHEmgE (2 AL L) | 2R 54 3 3,753 | * 3,000 R} .14 3 3,619 3,200 3,400 3,600
BwEEE 3 1,500 wEEK 3 2,200 2,900

Tk % 1 5,004 5,000 | F#OROTFED| —iE 2 2,412 2,400 2,400 2,400
BEEK] 4 2,500 wEEK] 2 1,600 2,000

wW | % 3 3,753 3,700 el — i 2 2,412 2,400 2,400 2,400
wEEE 3 1,850 wEEE 2 2,000 2,200

e iR - wRpossaLl JERMEAE | ik [ 0.75 904 900 900 900
ARG K - ERHOITIHEY BEEIE| 0.75 600 700

[1STETES R | R 3 3,284 3,200 gRill — % 3 3,166 3,100 3,100 3,100
wEEE 3 1,600 wEEE 3 2,100 2,600

Fh | ik 4 4,379 4300 | ruoROFERD| A% 2 2,111 2,100 2,100 2,100
BwEEE 4 2,150 wEEE 2 1,400 1,700

®H | K 3 3,284 3,200 el —fi 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEEE 2 1,700 1,900

R —fK - wanosams] EREHE | —& | 0.75 791 700 700 700
ARG - ERHOITHEY HEREIE| 0.75 500 600

1R R | ik 1 1,876 | * 1,400 i — i 1 1,809 1,500 1,600 1,800
BwEEE 1 700 BwEEE 1 1,000 1,400

Fk —fi 1 1,876 1,800 P4 — % 1 1,809 1,800 1,800 1,800
BEEE 1 900 BEEE 1 1,200 1,500

w’H | % 1 1,876 1,800 w’H — i 1 1,809 1,800 1,800 1,800
BwEEE 1 900 BwEEK 1 1,200 1,500

H2EHE PR | M 1 821 | * 700 PR — 1 791 700 700 700
BwEEE 1 350 BEEK 1 400 500

% % 1 821 800 LR —fi% 1 791 700 700 700
HEER 1 400 wEEE 1 500 600

I 83 1 821 800 &I M 1 791 700 700 700
BEEE 1 400 BEER 1 500 600

AR (RmER) |l L5 1 747 | * 500 R} 5.3 1 719 500 600 700
BEEK 1 250 wEEK 1 400 500

Tk W 1 747 700 R 514 1 719 700 700 700
BEEE 1 350 wEEK 1 400 500

I B3 1 747 700 el W 1 719 700 700 700
BEER 1 350 wEEK] 1 400 500

AR CEmEER) |l % 1 373 300 R} % 1 359 300 300 400
wEEE 1 150 wEEE 1 200 300

Tk | ik 1 373 300 4% — % 1 359 400 400 400
wEEE 1 150 wEEK 1 200 300

w’W | % 1 373 300 el — i 1 359 400 400 400
wEEE 1 150 BEEE 1 200 300

AR Ry — | 5 1 HE A R ik 3 2,346 | * 1,800 FiT — % 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700

T | ik 4 3,128 3,100 | FHORUF#D| — 2 1,508 1,500 1,500 1,500
BEREE 4 1,550 BEEE 2 1,000 1,200
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AR Ry — | 1SR SRS wW | % 3 2,346 2,300 el — % 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEREE 2 1,200 1,300
eS| —i wRBossiaL] JERMEME | ik [ 0.75 565 500 500 500
ARG - ERHOIEIHEY BEREE| 0.75 300 400
HotE A ET | iR 3 2,346 | * 1,800 TR — i 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
% —i 4 3,128 3,100 | reaorRorH| —fi% 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 wEEE 2 1,000 1,200
®HE | K 3 2,346 2,300 &I i 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEEE 2 1,200 1,300
FREE i - wanosams] EREAE | K | 0.75 565 500 500 500
ARG - ERHOITIEY HEEIE| 0.75 300 400
HIERE AT | 3 2,346 | * 1,800 R — i 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
ik —fix 4 3,128 3,100 | ##ORUF#O| —i% 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 BwEEE 2 1,000 1,200
wH | R 3 2,346 2,300 &I —f 2 1,508 1,500 1,500 1,500
BwEEK 3 1,150 BEEK 2 1,200 1,300
e R - wRpoEEs| JERAME | % | 0.75 565 500 500 500
ARG (K - ERHOIEIEY BEEIE| 0.75 300 400
FAERE R R 3 4,692 | * 3,700 PR — 3 4,524 3,900 4,200 4,500
BwEEK 3 1,850 BwEEK 3 2,700 3,600
T % 4 6,256 6,200 | FOROFRD| —iE 2 3,016 3,000 3,000 3,000
AR 4 3,100 wwEEK 2 2,000 2,500
I 8 3 4,692 4,600 ®IH M 2 3,016 3,000 3,000 3,000
BEEK 3 2,300 wEEK 2 2,500 2,700
HEREE| A - wRsosEras] LR R % [ 0.75 1,131 1,100 1,100 1,100
TG K - ERHOIBIEY M| 0.75 700 900
FoERE ER:) % 3 2,346 | * 1,800 R} 53 3 2,262 1,900 2,000 2,200
wEEK 3 900 wEEK 3 1,300 1,700
Th | 4 3,128 3,100 | FEORF#HD| —fiE 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 wEEE 2 1,000 1,200
KHE | K 3 2,346 2,300 A& IH —fi% 2 1,508 1,500 1,500 1,500
BEEE 3 1,150 BEREE 2 1,200 1,300
HEREE i - wanossEs] ERMEHE | —f% | 0.75 565 500 500 500
ARG K - ERHOITHEY BEREIE| 0.75 300 400
HeERE R M i'4 3 2,111 | * 1,600 gRill — % 3 2,035 1,700 1,800 2,000
wEEE 3 800 wEEE 3 1,200 1,600
T | iR 4 2,815 2,800 | FEORUFHD| 2 1,357 1,300 1,300 1,300
wEEE 4 1,400 wEEE 2 900 1,100
®HE | K 3 2,111 2,100 &IH i 2 1,357 1,300 1,300 1,300
wEEE 3 1,050 BwEREE 2 1,100 1,200
RF | — i - wanossms] ERENE | —K | 0.75 508 400 400 500
ARG K - ERHOITIEY HEREIE| 0.75 300 400
HTHRRE FRl | i 3 469 400 ERi — % 3 452 400 400 400
BwEEE 3 200 BwEEE 3 200 300
P —fix 4 625 600 | FORUFHO| —fi% 2 301 300 300 300
BwEEE 4 300 BwEEK 2 200 200
w’H | 3 469 400 el —fi% 2 301 300 300 300
BwEEK 3 200 BEEK 2 200 200
e iR - wRBosEs] ERMEME | i | 0.75 113 100 100 100
TGk - ERHOIBIEY wEREE| 0.75 100 100
R (mas | Pl i 3 2,346 | x 1,800 BRill i 3 2,262 1,900 2,000 2,200
HHY25E) wREE 3 900 wEEE 3 1,300 1,700
P W 4 3,128 3,100 | reorR o) % 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 wEEK 2 1,000 1,200
I B 3 2,346 2,300 ] W 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 wEEK 2 1,200 1,300
mEEE iR - wERBosEHaL] AE R AR M ]0.75 565 500 500 500
ARG (K - ERHOIBIEY K| 0.75 300 400
W= (e | Pl i 3 1,173 | = 900 PRl i 3 1,131 900 1,000 1,100
HALZNER) weEAE| 3 450 weEAE| 3 600 800
e | 4 1,564 1,500 | FH#OROF#| —i% 2 754 700 700 700
wEEK 4 750 wEREK 2 400 500
®KHE | K 3 1,173 1,100 &IH —fi% 2 754 700 700 700
wEEE 3 550 BEEE 2 600 600
BRI A - wanosams] ERERE | —fK | 0.75 282 200 200 200
ARG - ERHOITHEY AEREIE| 0.75 100 100
HefnE ET | iR 3 1,876 | * 1,400 TRl — % 3 1,809 1,500 1,600 1,800
wEEE 3 700 wEEE 3 1,000 1,400
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ARy — | 35 2F1EE k| 4 2,502 2,500 | rEOROFED| A% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEREE 2 800 1,000
wKH | K 3 1,876 1,800 &IH — i 2 1,206 1,200 1,200 1,200
wEEE 3 900 BEREK 2 1,000 1,100
WEREE i - wanossEs] ERMEHAE | —f | 0.75 452 400 400 400
ARG K - ERHOITIHEY BEREE| 0.75 200 300
F3Fn=E ET | iR 3 1,876 | * 1,400 Tl — % 3 1,809 1,500 1,600 1,800
wEEE 3 700 wEEE 3 1,000 1,400
T | ik 4 2,502 2500 | FEORUFHD| —i 2 1,206 1,200 1,200 1,200
BwEEE 4 1,250 wEEE 2 800 1,000
we | 3 1,876 1,800 il — i 2 1,206 1,200 1,200 1,200
wEEE 3 900 BwEEE 2 1,000 1,100
WIS i - wanosams] EREAE | —Kk | 0.75 452 400 400 400
ARG - ERHOITIEY BEREIE] 0.75 200 300
A= (=) Rl | i 3 938 | * 700 ‘PRl —fix 3 904 700 800 900
wEEE 3 350 BwEEE 3 500 700
T | R 4 1,251 1,200 | rEOROFHO| % 2 603 600 600 600
BEEE 4 600 BEEK 2 400 500
| ik 3 938 900 il — 2 603 600 600 600
wEEK 3 450 BwEEK 2 500 500
nEfEE iR - wmAsosaras] JERMEHE | % | 0.75 452 200 300 400
A GRE K - ERHOITEY BHEEIE| 0.75 200 300
KE FET | iR 3 234 200 PRI —% 3 226 200 200 200
wHekER| 3 100 BEEER 3 100 100
Tk B3 4 312 300 | FEORCFED| —iik 2 150 100 100 100
BEEE 4 150 BEEK 2 100 100
I L 3 234 200 el W 2 150 100 100 100
BwEEE 3 100 BEER 2 100 100
W - i3 R BT TR R % [ 0.75 56 100 100 100
ARG K - ERHOIBIHEY BEEK| 0.75 100 100
TIEE(TRMEA) | FEr | ik 3 3,284 | * 2,500 FRi —fi% 3 3,166 2,700 2,900 3,100
wEEE 3 1,250 wEEE 3 1,800 2,400
Tk | ik 4 4,379 4300 | reOROFEO| A% 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 BEREE 2 1,400 1,700
®KHE | K 3 3,284 3,200 &IH — 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEEE 2 1,700 1,900
HEREE i - wanossEs] ERMEAE | —f% | 0.75 791 700 700 700
ARG - ERHOITIHEY BEEIE| 0.75 400 500
THEEEREN | PRl | i 3 1,642 | * 1,200 FiT — i 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
T | —ik 1 2,189 2,100 | FEORUFHD| — 2 1,055 1,000 1,000 1,000
wEEE 4 1,050 BwEREE 2 600 800
w | 3 1,642 1,600 W — i 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEEE 2 800 900
E | — i - wasosams] ERENE | —& | 0.75 791 400 500 700
R GRE K - ERHOITIEY EEIE] 0.75 300 500
FHERE (LARCFEE) | PR | —fi 3 3,285 | * 2,500 ‘PRl — i 3 3,168 2,700 2,900 3,100
wEEE 3 1,250 BwEEK 3 1,800 2,400
T | R 4 4,380 4300 | FEORFED| i 2 2,112 2,100 2,100 2,100
BwEEK 4 2,150 BEEK 2 1,400 1,700
wH | ik 3 3,285 3,200 &I —% 2 2,112 2,100 2,100 2,100
HEkER| 3 1,600 BEEK 2 1,700 1,900
e iR - ERBOsEEL] LR M ]0.75 792 700 700 700
T GRE K - ERHOITIEY HEEE| 0.75 400 500
B (2 AT | 2Pl L5 3 4,692 | * 3,700 PRI M 3 4,524 3,900 4,200 4,500
BEEK 3 1,850 BEERl 3 2,700 3,600
Tk W 4 6,256 6,200 | FORUFED| —fk 2 3,016 3,000 3,000 3,000
BEEE 4 3,100 wEEK 2 2,000 2,500
I B3 3 4,692 4,600 el M 2 3,016 3,000 3,000 3,000
a3 2,300 wEEE] 2 2,500 2,700
R A% - wRBoEEL] IE AR % | 0.75 1,131 1,100 1,100 1,100
ARG K - ERHOITIHEY BEEIE| 0.75 700 900
[ESTHTES PR | ik 3 4,692 4,600 Rl — % 3 4,524 4,500 4,500 4,500
wEEE 3 2,300 wEEE 3 3,000 3,700
e | 4 6,256 6,200 | FEOROTFRE| —fiE 2 3,016 3,000 3,000 3,000
BEEE 4 3,100 BEEE 2 2,000 2,500
&KHE | K 3 4,692 4,600 & IH —fi 2 3,016 3,000 3,000 3,000
wEEE 3 2,300 wEEE 2 2,500 2,700
RERIEE| Ak - wanosss] ERMEMAE | —K | 0.75 1,131 1,100 1,100 1,100
ARG (K - ERHOIEHEY BEREIE| 0.75 800 900
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KRR R — | 35195 SR PR | ik 1 1,642 | 1,200 R — i 1 1,583 1,300 1,400 1,500
wEEE 1 600 wEEE 1 900 1,200
ERL 3 1 1,642 1,600 T4 — i 1 1,583 1,500 1,500 1,500
wEEE 1 800 wEREE 1 1,000 1,200
wKH | K 1 1,642 1,600 &IH — i 1 1,583 1,500 1,500 1,500
wEEE 1 800 wEEE 1 1,000 1,200
FoE A= ET | iR 1 1,055 | * 800 SRl —fi% 1 1,017 800 900 1,000
wEEE 1 400 wEEE 1 600 800
e | 1 1,055 1,000 % — i 1 1,017 1,000 1,000 1,000
wEEE 1 500 wEEE 1 600 800
" | 1 1,055 1,000 I — i 1 1,017 1,000 1,000 1,000
BwEEE 1 500 BwEEE 1 600 800
REE@mER) | PRl | R 1 373 300 ERill — % 1 359 300 300 300
HEEE 150 BwEEE 1 200 200
ik — 1 373 300 P4 — i 1 359 300 300 300
B 1 150 BwEEE 1 200 200
wH | 1 373 300 el — & 1 359 300 300 300
BEEE 1 150 BEEK 1 200 200
I R 5 — | B T RS R | M 3 2,815 | * 2,200 LRI} —f% 3 2,714 2,300 2,500 2,700
wEEK 3 1,100 wEEK 3 1,600 2,100
T | R 4 3,753 3,700 | FHEORFED| —ii% 2 1,809 1,800 1,800 1,800
wEEE 4 1,850 BwEEIR 2 1,200 1,500
| ik 3 2,815 2,800 el —% 2 1,809 1,800 1,800 1,800
wakEEl 3 1,400 wwEEK 2 1,500 1,600
e iR - wERBOsEEL]  ERAE R M ]0.75 678 600 600 600
TGRE K - ERHOIBIEY #EEE| 0.75 400 500
HoERE ER) M 3 2,815 | * 2,200 PRI W 3 2,714 2,300 2,500 2,700
BEER 3 1,100 wEEK 3 1,600 2,100
Tk % 4 3,753 3,700 | reor 0| % 2 1,809 1,800 1,800 1,800
BEEK] 4 1,850 wEEK] 2 1,200 1,500
wW | % 3 2,815 2,800 el — i 2 1,809 1,800 1,800 1,800
wEEE 3 1,400 wEEE 2 1,500 1,600
e iR - wRpossaLl JERMEAE | ik [ 0.75 678 600 600 600
ARG K - ERHOITIHEY BEEIE| 0.75 400 500
HIERE FET | iR 3 2,346 | * 1,800 SRl —i 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
T | ik 4 3,128 3,100 | ruorRvrH| —fi% 2 1,508 1,500 1,500 1,500
BwEEE 4 1,550 wEEE 2 1,000 1,200
®H | K 3 2,346 2,300 el — 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEEE 2 1,200 1,300
R —fK - wanosams] EREHE | —& | 0.75 565 500 500 500
ARG - ERHOIEHES HEREIE| 0.75 300 400
HARRE PRl | i 3 2,111 | * 1,600 Rl — i 3 2,035 1,700 1,800 2,000
wEEE 3 800 wEEE 3 1,200 1,600
ER —i 4 2,815 2800 | roOrR R —fi% 2 1,357 1,300 1,300 1,300
BwEEE 4 1,400 BEEE 2 900 1,100
w’H | 3 2,111 2,100 wH — 2 1,357 1,300 1,300 1,300
wEEE 3 1,050 BwEEK 2 1,100 1,200
nEfEE R - wRsossEy] ERMEAR | M [ 0.75 508 400 400 500
B GRE - ERHOITIEY HEEIE| 0.75 300 400
HOERE R | R 3 2,111 | * 1,600 PRI — 3 2,035 1,700 1,800 2,000
Bkl 3 800 wEEE 3 1,200 1,600
P M 4 2,815 2800 | rEOr R % 2 1,357 1,300 1,300 1,300
BEEK 4 1,400 wEEE 2 900 1,100
il B3 3 2,111 2,100 ] M 2 1,357 1,300 1,300 1,300
BEER 3 1,050 wEEK 2 1,100 1,200
mEEE iR - wERBosEHaL] AE R AR M 0.75 508 400 400 500
A GRE K - ERHOIBIEY BEEK| 0.75 300 400
HOERE BRI % 3 2,346 | * 1,800 PRl W 3 2,262 1,900 2,000 2,200
wEEK| 3 900 wEEEl 3 1,300 1,700
Tk % 4 3,128 3,100 | reor v % 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 wEEE 2 1,000 1,200
wW | % 3 2,346 2,300 [H — % 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEREK 2 1,200 1,300
eS| iR - wRsossiaL] JERMEAE | ik [ 0.75 565 500 500 500
ARG - ERHOIEIHEY BEEIE| 0.75 300 400
BTERE FET | iR 3 1,876 | * 1,400 SRl —fi% 3 1,809 1,500 1,600 1,800
wEEE 3 700 wEEE 3 1,000 1,400
T | ik 4 2,502 2500 | FEORUFHD| —i 2 1,206 1,200 1,200 1,200
BEREE 4 1,250 BEEE 2 800 1,000
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SRR R s — B THR Y KHE | K 3 1,876 1,800 &IH —fi% 2 1,206 1,200 1,200 1,200
wEEE 3 900 wEREE 2 1,000 1,100
WEREE i wanossEs] ERMERE | —f | 0.75 452 400 400 400
ARG - ERHOIEIHEY BEREE| 0.75 200 300
H1FnE ET | iR 3 1,642 | * 1,200 SRl — i 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
% — i 4 2,189 2,100 | FEORUFHD| —i 2 1,055 1,000 1,000 1,000
wEEE 4 1,050 wEEE 2 600 800
®H | K 3 1,642 1,600 &IH — 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEEE 2 800 900
FREE i - wanosams] EREAE | K | 0.75 395 300 300 300
ARG - ERHOITIEY HEEIE| 0.75 200 200
o= (A=) FEl | 3 938 | * 700 PRl — % 3 904 700 800 900
wEEE 3 350 wEEE 3 500 700
ik —fix 4 1,251 1,200 | rOROFHD| 2 603 600 600 600
wEEE 4 600 BwEEE 2 400 500
wH | 3 938 900 el — & 2 603 600 600 600
BwEEK 3 450 BEEK 2 500 500
nEfEE| iR - wRBOsEL] ERMEME | i | 0.75 226 200 200 200
ARG (K - ERHOITEY BEEIE| 0.75 100 100
wmamE (e | AT | 3 2,815 | * 2,200 SR} — 3 2,714 2,300 2,500 2,700
T D% E) WK 3 1,100 WA 3 1,600 2,100
T % 4 3,753 3,700 | FeOr0F®E| —f% 2 1,809 1,800 1,800 1,800
AR 4 1,850 BEER 2 1,200 1,500
I 8 3 2,815 2,800 ®IH M 2 1,809 1,800 1,800 1,800
BEEK 3 1,400 wEEK 2 1,500 1,600
e iR - wERBosEEL] LR R M 0.75 678 600 600 600
TG K - ERHOIBIEY M| 0.75 400 500
I (Man | Pl i 3 1,642 | * 1,200 Bl LS 3 1,583 1,300 1,400 1,500
HALRNEE) whEE 3 600 wREE 3 900 1,200
Th | 4 2,189 2,100 | FEORCFHD| —fiE 2 1,055 1,000 1,000 1,000
wEEE 4 1,050 wEEE 2 600 800
KHE | K 3 1,642 1,600 A& IH —fi% 2 1,055 1,000 1,000 1,000
BEEE 3 800 BEREE 2 800 900
HEREE i - wanossEs] ERMEHE | —f% | 0.75 395 300 300 300
ARG K - ERHOITHEY BEREIE| 0.75 200 200
A R | iR 3 2,346 | * 1,800 2F-iif] — i 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
T | iR 4 3,128 3,100 | FEORUFHD| 2 1,508 1,500 1,500 1,500
wEEE 4 1,550 wEEE 2 1,000 1,200
®HE | K 3 2,346 2,300 &IH — 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 BwEREE 2 1,200 1,300
RF | — i - wanossms] ERENE | —K | 0.75 565 500 500 500
ARG K - ERHOITIEY HEREIE| 0.75 300 400
TRUIESE b == PRl | R 3 1,876 | * 1,400 PRl — % 3 1,809 1,500 1,600 1,800
BwEEE 3 700 BwEEE 3 1,000 1,400
P —fix 4 2,502 2500 | FEORUF%D| —i% 2 1,206 1,200 1,200 1,200
BwEEE 4 1,250 BwEEK 2 800 1,000
w’H | 3 1,876 1,800 el —fi& 2 1,206 1,200 1,200 1,200
BwEEK 3 900 BEEK 2 1,000 1,100
e iR - wRBosEs] ERMEME | i | 0.75 452 400 400 400
TGk - ERHOEIEY BHEEIE| 0.75 200 300
Kz ERiil L5 3 234 200 R} - 3 226 200 200 200
wEEK 3 100 BEERl 3 100 100
T 55 4 312 300 | FEOROTFED| i 2 150 100 100 100
BEEE 4 150 BEER 2 100 100
I 8 3 234 200 ] W 2 150 100 100 100
BwEEE 3 100 BEEK 2 100 100
mEEE iR - wRsosaras] LR R M 0.75 56 100 100 100
BSSGUEIlN - EAKH O3S e 0.75 100 100
TR (TEEM) |l % 3 2,815 | * 2,200 R} -f% 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 wEEE 3 1,600 2,100
e | 4 3,753 3,700 | FEORBF#HD| —fiE 2 1,809 1,800 1,800 1,800
wEEK 4 1,850 wEREK 2 1,200 1,500
wKH | K 3 2,815 2,800 &IH —fi% 2 1,809 1,800 1,800 1,800
wEEE 3 1,400 BEEE 2 1,500 1,600
RS — i - wanosams] ERERE | —fK | 0.75 678 600 600 600
ARG - ERHOITHEY AEREIE| 0.75 400 500
TEERERMEA | el | i 3 1,407 | * 1,000 i —i 3 1,357 1,100 1,200 1,300
wEEE 3 500 wEEE 3 700 1,000
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SRR A — | TaE s R R) | PR | A% 4 1,876 1,800 | FEOROFRD| —fik 2 904 900 900 900
BEEE 4 900 wEREE 2 600 700
wKH | K 3 1,407 1,400 &IH — % 2 904 900 900 900
wEEE 3 700 BEREK 2 700 800
eS| — i - wRBossaL] JERMEAE | ik [ 0.75 339 300 300 300
ARG K - ERHOITIHEY BEREE| 0.75 200 200
BHERE (U FE) | PR | iR 3 3,613 | * 2,800 FiT — i 3 3,484 3,000 3,200 3,400
wEEE 3 1,400 wEEE 3 2,000 2,700
T | ik 4 4,818 4,800 | FEORUFHD| —i 2 2,323 2,300 2,300 2,300
BwEEE 4 2,400 wEEE 2 1,500 1,900
we | 3 3,613 3,600 I — i 2 2,323 2,300 2,300 2,300
wEEE 3 1,800 BwEEE 2 1,900 2,100
WIS i - wanosams] EREAE | —Kk | 0.75 871 800 800 800
ARG - ERHOITIEY BEREIE] 0.75 500 600
FHERS (1S AR L) | 21 — 3 5,161 | * 3,900 PRl — i 3 4,976 4,200 4,500 4,900
wEEE 3 1,950 BwEEE 3 2,900 3,900
P —fix 4 6,881 6,800 | FEORUFHRD| & 2 3,317 3,300 3,300 3,300
BEEE 4 3,400 BEEIK 2 2,200 2,700
wH | ik 3 5,161 5,100 wIH —fi% 2 3,317 3,300 3,300 3,300
wEEK 3 2,550 BwEEK 2 2,800 3,000
mEEE R - wRBOsEEs] ERMEMAE | & | 0.75 1,244 1,100 1,100 1,200
A GRE K - ERHOITEY kIR 0.75 700 900
(IS UES FET | iR 3 3,753 3,700 PRI — 3 3,619 3,600 3,600 3,600
wakEEl 3 1,850 wEEK 3 2,400 3,000
EEC 54 4 5,004 5000 | FOROFED| —iE 2 2,412 2,400 2,400 2,400
BEEE 4 2,500 wEEK 2 1,600 2,000
I L 3 3,753 3,700 et W 2 2,412 2,400 2,400 2,400
BwEEE 3 1,850 wEEE 2 2,000 2,200
IR — i - wRsossran| 48 AR % | 0.75 904 900 900 900
ARG K - ERHOIBIHEY BEEK| 0.75 600 700
COREE o | R 1 1,055 | * 800 ERi| — % 1 1,017 800 900 1,000
wEEE 1 400 wEEE 1 600 800
T | ik 1 1,055 1,000 % — i 1 1,017 1,000 1,000 1,000
BEEE 1 500 BEREE 1 600 800
®HE | K 1 1,055 1,000 &IH — 1 1,017 1,000 1,000 1,000
wEEE 1 500 wEEE 1 600 800
CIPASE ER U M i'4 1 1,876 | * 1,400 gl — % 1 1,809 1,500 1,600 1,800
wEEE 1 700 BwEEE 1 1,000 1,400
| 1 1,876 1,800 % —i 1 1,809 1,800 1,800 1,800
wEEE 1 900 wEEE 1 1,200 1,500
®HE | K 1 1,876 1,800 &IH — 1 1,809 1,800 1,800 1,800
BwEEE 1 900 BwEEE 1 1,200 1,500
MR X ERERTT [BIRAR= Rl | 3 1,407 | * 1,000 R — i 3 1,357 1,100 1,200 1,300
wEEE 3 500 wEEE 3 700 1,000
EE —i 4 1,876 1,800 | FHEOROFHD| —fi% 2 904 900 900 900
BwEEE 4 900 BEEE 2 600 700
wH | R 3 1,407 1,400 &I — i 2 904 900 900 900
wEEE 3 700 BwEEK 2 700 800
nEfEE R - manossnas| FERMEAR | % | 0.75 508 300 400 500
B GRE - ERHOITIEY eI 0.75 200 300
%i%ﬁ%{;f@” Rl | i 3 1,407 | * 1,200 EaT) —fx 3 1,357 1,200 1,200 1,300
PR ) HEkER| 3 600 wEEE 3 800 1,000
P 514 4 1,876 1,800 | FEOLOFHD| ik 2 904 900 900 900
BEEK 4 900 wEEE 2 600 700
il B3 3 1,407 1,400 ] M 2 904 900 900 900
BEER 3 700 wEEK 2 700 800
mEEE iR - wERBosEHaL] AE R AR M 0.75 339 300 300 300
A GRE K - ERHOIBIEY BEEK| 0.75 200 200
fﬁi?ﬁi&f@l | i 3 1173 | * 900 FT i 3 1,131 900 1,000 1,100
LAY BEER 3 450 wEEEl 3 600 800
Ttk % 4 1,564 1,500 | FEOROFHD| —fk 2 754 700 700 700
wEEE 4 750 wEEE 2 400 500
w’W | % 3 1,173 1,100 H[H —fi% 2 754 700 700 700
wEEE 3 550 wEREK 2 600 600
WEREE i - wanossEs] ERERE | % | 0.75 282 200 200 200
ARG - ERHOIEIHEY BEEIE| 0.75 100 100
LA R 2T ]\fj:;{(gg%"éf R | |3 1,642 | 1,200 TRl x| 3 1,583 1,300 1,400 1,500
TN wEEE 3 600 wEEE 3 900 1,200
T | ik 4 2,189 2,100 | FHEORUF#D| — 2 1,055 1,000 1,000 1,000
BEREE 4 1,050 BEEE 2 600 800
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B X R %ﬁ%ﬁﬂ‘%ﬂ;}: W 3 1,642 1,600 #H —fi 2 1,055 1,000 1,000 1,000
Ba wEEE 3 800 wEREE 2 800 900
eS| —i wRBossiaL] JERMEME | ik [ 0.75 395 300 300 300
ARG - ERHOIEIHEY BEREE| 0.75 200 200
%U%fgfﬂ??:{ | i |3 1173 | * 900 R | 3 1,131 900 1,000 1,100
TN wEEE 3 450 wEEE 3 600 800
% — i 4 1,564 1,500 | FOROFHD| % 2 754 700 700 700
wEEE 4 750 wEEE 2 400 500
®H | K 3 1,173 1,100 &I — 2 754 700 700 700
wEEE 3 550 wEEE 2 600 600
FREE i - wanosams] EREAE | K | 0.75 282 200 200 200
ARG - ERHOITIEY HEEIE| 0.75 100 100
1= AT | 3 938 | * 700 ERil — % 3 904 700 800 900
wEEE 3 350 wEEE 3 500 700
ik —fix 4 1,251 1,200 | rOROFHD| 2 603 600 600 600
wEEE 4 600 BwEEE 2 400 500
wH | 3 938 900 el — 2 603 600 600 600
BwEEE 3 450 BEEK 2 500 500
mEEE iR - wRBOsEL] ERMEME | i | 0.75 226 200 200 200
ARG (K - ERHOITEY BEEIE| 0.75 100 100
Hofn= PR | M 3 938 | * 700 PR — % 3 904 700 800 900
wEEE 3 350 BwEEK 3 500 700
P — 4 1,251 1,200 | FRORFHD| —fi% 2 603 600 600 600
AR 4 600 wEEK 2 400 500
i 83 3 938 900 ] M 2 603 600 600 600
BEEK 3 450 wEEK 2 500 500
e iR - wERBosEEL] LR R M 0.75 226 200 200 200
TG K - ERHOIBIEY M| 0.75 100 100
M X RSP [BIERE ERiil A 3 2,815 | * 2,200 KRl f% 3 2,714 2,300 2,500 2,700
wEEK 3 1,100 wEEK 3 1,600 2,100
Tk | ik 4 3,753 3,700 | reor o) —i% 2 1,809 1,800 1,800 1,800
wEEE 4 1,850 wEEE 2 1,200 1,500
&’ | % 3 2,815 2,800 ediiil —fi% 2 1,809 1,800 1,800 1,800
BEEE 3 1,400 BEREE 2 1,500 1,600
HEREE i - wanossEs] ERMEHE | —f% | 0.75 678 600 600 600
ARG K - ERHOITHEY BEREIE| 0.75 400 500
BERE R M i'4 3 1,407 | * 1,000 gRill — % 3 1,357 1,100 1,200 1,300
wEEE 3 500 wEEE 3 700 1,000
T | ik 4 1,876 1,800 | FOROFHD| % 2 904 900 900 900
wEEE 4 900 wEEE 2 600 700
®HE | K 3 1,407 1,400 &IH i 2 904 900 900 900
wEEE 3 700 BwEREE 2 700 800
RF | — i - wanossms] ERENE | —K | 0.75 339 300 300 300
ARG K - ERHOITIEY HEREIE| 0.75 200 200
o= PRl | R 3 1,407 | * 1,000 ERi] — % 3 1,357 1,100 1,200 1,300
BwEEE 3 500 BwEEE 3 700 1,000
P —fix 4 1,876 1,800 | FHORVF#| —fi% 2 904 900 900 900
BwEEE 4 900 BwEEK 2 600 700
w’H | 3 1,407 1,400 wH —fi& 2 904 900 900 900
gkl 3 700 BEEK 2 700 800
e iR - wRBosEs] ERMEME | i | 0.75 339 300 300 300
TGk - ERHOIBIEY wEREE| 0.75 200 200
PEKR K AR T | B 1R 3 ERiil W 3 1,876 | * 1,400 “FRiT M 3 1,809 1,500 1,600 1,800
wEEK 3 700 wEEE 3 1,000 1,400
P 53 4 2,502 2500 | reor 0RO A% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEEK 2 800 1,000
I 8 3 1,876 1,800 wH W 2 1,206 1,200 1,200 1,200
BwEEE 3 900 wEEK 2 1,000 1,100
mEEE iR - wRsosaras] LR R M ]0.75 452 400 400 400
ARG K - ERHOIBIEY K| 0.75 200 300
M E ER:) % 3 2,815 | * 2,200 LR} B3 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 wEEE 3 1,600 2,100
e | 4 3,753 3,700 | FEORBF#HD| —fiE 2 1,809 1,800 1,800 1,800
wEEK 4 1,850 wEREK 2 1,200 1,500
wKH | K 3 2,815 2,800 &IH —fi% 2 1,809 1,800 1,800 1,800
wEEE 3 1,400 BEEE 2 1,500 1,600
RS — i - wanosams] ERERE | —fK | 0.75 678 600 600 600
ARG - ERHOITHEY AEREIE| 0.75 400 500
e GERMEA) | PR | 3 4,692 | * 3,700 i —i 3 4,524 3,900 4,200 4,500
wEEE 3 1,850 wEEE 3 2,700 3,600
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PR X R T R R RMER) | P | i 4 6,256 6,200 | FHOROFED| —ik 2 3,016 3,000 3,000 3,000
BEEE 4 3,100 wEREE 2 2,000 2,500
THE@M| —fi% 2 3,128 3100 | TR —i 2 3,016 3,000 3,000 3,000
BEREK 2 1,550 BEREK 2 2,000 2,500
kAR —fi 3 4,692 4,600 | {KA FER — % 2 3,016 3,000 3,000 3,000
wEEE 3 2,300 wEEE 2 2,500 2,700
BERIEE| A - wanossms] ERMEHAE | —fK | 0.75 1,131 900 1,000 1,100
ARG - ERHOIEHEY AEREIE| 0.75 600 800
EREMTRE | Al | ik 3 1,642 | * 1,200 Tl —i 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
Fe | ik 4 2,189 2,100 | raorROFR| A% 2 1,055 1,000 1,000 1,000
wEEE 4 1,050 BwEEE 2 600 800
TREM| —i% 2 1,094 1,000 | FH R — i 2 1,055 1,000 1,000 1,000
wEEE 2 500 BwEEK 2 600 800
R —i% 3 1,642 1,600 | IR H &I — 2 1,055 1,000 1,000 1,000
wEEE 3 800 BwEEE 2 800 900
IR — ik - manossnay| JERMEHE | & | 0.75 395 300 300 300
B GRE ERHOITIEY BEEIE| 0.75 200 200
e (R Rt | FET | iR 1 373 300 ‘PRI —f 1 359 300 300 300
B 1 150 BwEEE 1 200 200
T | R 1 373 300 744 —fi% 1 359 300 300 300
B 1 150 B 1 200 200
TR@ER| 1 373 300 | FH R —fi% 1 359 300 300 300
wakEE 1 150 wEER 1 200 200
g —ix 1 373 300 | KA R M 1 359 300 300 300
BEEE 1 150 wEEK 1 200 200
TR RAERTT | HER=E ERiil W 3 1,407 | * 1,000 PRI W 3 1,357 1,100 1,200 1,300
BEER 3 500 wEEK 3 700 1,000
Tk % 1 1,876 1,800 | FEORUFHD| —fik 2 904 900 900 900
BEEK] 4 900 wEEK] 2 600 700
wW | % 3 1,407 1,400 el —fi% 2 904 900 900 900
wEEE 3 700 wEEE 2 700 800
e iR - wRpossaLl JERMEAE | ik [ 0.75 339 300 300 300
ARG K - ERHOITIHEY BEEIE| 0.75 200 200
HERE FET | iR 3 1,876 | * 1,400 SRl — i 3 1,809 1,500 1,600 1,800
wEEE 3 700 wEEE 3 1,000 1,400
Fh | ik 4 2,502 2,500 | ruOR R —f% 2 1,206 1,200 1,200 1,200
BwEEE 4 1,250 wEEE 2 800 1,000
®H | K 3 1,876 1,800 el —fi 2 1,206 1,200 1,200 1,200
wEEE 3 900 wEEE 2 1,000 1,100
R —fK - wanosams] EREHE | —& | 0.75 452 400 400 400
ARG - ERHOIEHES HEREIE| 0.75 200 300
HIEAE PRl | i 3 703 | * 500 i — i 3 678 500 500 600
wEEE 3 250 wEEE 3 300 400
EE —i 4 938 900 | rFE@ROFHD| —f% 2 452 400 400 400
BEEIR 4 450 BEEE 2 200 300
wH | R 3 703 700 &I — i 2 452 400 400 400
wEEE 3 350 BwEEK 2 300 300
BRI — ik - manossnas| FERMEAR | % | 0.75 169 100 100 100
B GRE - ERHOITIEY eI 0.75 100 100
IE FET | iR 3 1,876 | * 1,400 PRI — 3 1,809 1,500 1,600 1,800
Bkl 3 700 wEEE 3 1,000 1,400
P ik 4 2,502 2500 | reor o) A% 2 1,206 1,200 1,200 1,200
BEEIR 4 1,250 wEEE 2 800 1,000
il B3 3 1,876 1,800 ] M 2 1,206 1,200 1,200 1,200
BEER 3 900 wEEK 2 1,000 1,100
mEEE iR - wERBosEHaL] AE R AR M 0.75 452 400 400 400
o nilis - ERHOIBIEY BEEK| 0.75 200 300
LA —AOREH| R % 3 3,284 | * 2,500 R M 3 3,166 2,700 2,900 3,100
BEER 3 1,250 wEEEl 3 1,800 2,400
Tk % 4 4,379 4300 | reOrR 0RO % 2 2,111 2,100 2,100 2,100
wEEE 4 2,150 wEEE 2 1,400 1,700
wH | K 3 3,284 3,200 &M —fi% 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 wEREK 2 1,700 1,900
eS| iR - wRsossiaL] JERMEAE | ik [ 0.75 791 700 700 700
ARG - ERHOIEIHEY BEEIE| 0.75 400 500
ZHM— L f PR K 1 1,094 | * 800 ZFRil —fi% 1 1,055 800 900 1,000
iR HEE 1 400 HEE 1 600 800
s | 1 1,094 1,000 Tt — i 1 1,055 1,000 1,000 1,000
wEEE 1 500 wEREE 1 600 800
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I RAE LT %@%}%&&g wE| 1 1,094 1,000 7K —f 1 1,055 1,000 1,000 1,000
) wEEE 1 500 wEEE 1 600 800
FE R R | 1R AR ET | iR 3 2,346 | * 1,800 il —fi 3 2,262 1,900 2,000 2,200
wEEE 3 900 wEEE 3 1,300 1,700
Tt — i 4 3,128 3,100 | FEORUF#D| —it 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 wEEE 2 1,000 1,200
&KHE | K 3 2,346 2,300 & IH — i 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEEE 2 1,200 1,300
BRI —fK - wanossms] ERMEHE | —K | 0.75 565 500 500 500
R ERER - B O3EEY g 0.75 300 400
HoRRE ET | R 3 1,876 | * 1,400 T — i 3 1,809 1,500 1,600 1,800
wEEE 3 700 BwEEE 3 1,000 1,400
EE — % 4 2,502 2500 | rOrROFRD| —fi% 2 1,206 1,200 1,200 1,200
e 4 1,250 BwEEK 2 800 1,000
wH | 3 1,876 1,800 &I — i 2 1,206 1,200 1,200 1,200
wEEE 3 900 BwEEE 2 1,000 1,100
nEEE R - wRsosEEy] ERMEAE | i [ 0.75 452 400 400 400
B GRE - ERHOITIEY BEEIE| 0.75 200 300
1 FET | R 3 2,111 | * 1,600 ‘PRI — % 3 2,035 1,700 1,800 2,000
wEEK 3 800 wEEK 3 1,200 1,600
T | R 4 2,815 2,800 | FHEORFED| —ii% 2 1,357 1,300 1,300 1,300
k| 4 1,400 BEEK 2 900 1,100
| R 3 2,111 2,100 el —% 2 1,357 1,300 1,300 1,300
wHekER| 3 1,050 wwEEK 2 1,100 1,200
e iR - wERBOsEEL]  ERAE R M ]0.75 508 400 400 500
TGRE K - ERHOIBIEY #EEE| 0.75 300 400
2= i M 3 1,642 | * 1,200 BRI} M 3 1,583 1,300 1,400 1,500
BwEEE 3 600 wEEK 3 900 1,200
Tk % 1 2,189 2,100 | reoOrROFEO| % 2 1,055 1,000 1,000 1,000
BEEK] 4 1,050 wEEK] 2 600 800
wW | % 3 1,642 1,600 " — i 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEEE 2 800 900
e iR - wRpossaLl JERMEAE | ik [ 0.75 395 300 300 300
ARG K - ERHOITIHEY BEEIE| 0.75 200 200
KE R | R 3 234 200 gaill —i 3 226 200 200 200
wEEE 3 100 wEEE 3 100 100
T | ik 4 312 300 | FEORUFHRD| —fik 2 150 100 100 100
BwEEE 4 150 wEEE 2 100 100
®H | K 3 234 200 el — i 2 150 100 100 100
wEEE 3 100 wEEE 2 100 100
R —fK - wRgosEs| FERMAE | —#% | 0.75 56 100 100 100
ARG - ERHOITHEY HEREIE| 0.75 100 100
REEGERMM) | Fall | & 3 5,161 | * 4,000 i — % 3 4,976 4,300 4,600 4,900
wEEE 3 2,000 wEEE 3 2,900 3,900
ER — % 4 6,881 6,800 | FH#OROITH®| —iik 2 3,317 3,300 3,300 3,300
BwEEE 4 3,400 BEEE 2 2,200 2,700
w’H | % 3 5,161 5,100 wH — i 2 3,317 3,300 3,300 3,300
wEEE 3 2,550 BwEEK 2 2,800 3,000
mE | iR - wRBOsEEs] ERMEMAE | & 075 1,244 1,200 1,200 1,200
B GRE ERHOITIEY HEEIE| 0.75 800 1,000
REE@mER) | Fai | R 1 74T | * 500 PRI —f 1 719 500 600 700
HEER 1 250 wEEE 1 400 500
P L5 1 747 700 R0 M 1 719 700 700 700
BEEE 1 350 wEEE 1 400 500
il B3 1 747 700 &I E3 1 719 700 700 700
BEEE 1 350 wEEK 1 400 500
AR CEmE) |l L5 1 373 300 R} 514 1 359 300 300 400
BEEE 1 150 wEEK 1 200 300
B3 B3 1 373 300 Fi% M 1 359 400 400 400
wEEK 1 150 wEEK] 1 200 300
I % 1 373 300 & IH B3 1 359 400 400 400
wEEE 1 150 wEEE 1 200 300
ARBEEERTT | 1ER = | ik 3 1,173 | * 900 R —fi& 3 1,131 900 1,000 1,100
wEEE 3 450 wEEE 3 600 800
e | 4 1,564 1,500 | FHOROFH| % 2 754 700 700 700
BEEE 4 750 BEEE 2 400 500
&KHE | K 3 1,173 1,100 & IH — 2 754 700 700 700
wEEE 3 550 wEEE 2 600 600
RERIEE| Ak - wanossms] ERMEMAE | —K | 0.75 282 200 200 200
ARG (K - ERHOIEHEY BEREIE| 0.75 100 100
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ARREREAERT 2R FET | MR 3 1,407 | s 1,000 Ea) —x 3 1,357 1,100 1,200 1,300
wEEE 3 500 wEEE 3 700 1,000
-t —i 4 1,876 1,800 | FOROFHD| % 2 904 900 900 900
BEEE 4 900 BEREK 2 600 700
®KH | K 3 1,407 1,400 &M — % 2 904 900 900 900
wEEE 3 700 wEEE 2 700 800
RS i - wanosamEs] ERMEHAE | —fK | 0.75 339 300 300 300
ARG - ERHOIEHEY AEREIE| 0.75 200 200
EiRE S R i 3 1,407 | * 1,000 ZFRiff —i 3 1,357 1,100 1,200 1,300
wEEE 3 500 wEEE 3 700 1,000
Fe | ik 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
wEEE 4 900 BwEEE 2 600 700
we | 3 1,407 1,400 il — i 2 904 900 900 900
wEEE 3 700 BwEEK 2 700 800
S i - wRsosEs| FERMTE | —i% | 0.75 339 300 300 300
R ERER - BEAHOEIEY REREIE) 0.75 200 200
HAERE PR R 3 2,111 | * 1,600 BRI} — 3 2,035 1,700 1,800 2,000
BwEEK 3 800 BEEK 3 1,200 1,600
i — i 4 2,815 2,800 | reOrOFRE| —fi% 2 1,357 1,300 1,300 1,300
wEEE 4 1,400 BwEEIK 2 900 1,100
wH | 3 2,111 2,100 W —fi& 2 1,357 1,300 1,300 1,300
BEER 3 1,050 wEEE 2 1,100 1,200
mEEE iR - wRBosEs] ERMEME | & | 0.75 508 400 400 500
kelouEiliN - FERHOEEY BEkER] 0.75 300 400
IE ERiil L5 3 1,876 | * 1,400 “FRi M 3 1,809 1,500 1,600 1,800
BEER 3 700 wEEK 3 1,000 1,400
Tk M 4 2,502 2500 | reor 0RO % 2 1,206 1,200 1,200 1,200
BEER 4 1,250 wEEK] 2 800 1,000
K I# -fi% 3 1,876 1,800 &M W 2 1,206 1,200 1,200 1,200
wEEK 3 900 wEEK] 2 1,000 1,100
e i - wRsossaL] ERMEAE | ik [ 0.75 452 400 400 400
ARG - ERHOITIHEY M| 0.75 200 300
T X RESTT | HER=E FET | R 3 1,407 | s 1,000 Ea) — % 3 1,357 1,100 1,200 1,300
BEEE 3 500 BEEE 3 700 1,000
% — % 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
wEEK 4 900 wEEE 2 600 700
®KH | K 3 1,407 1,400 &IH — 2 904 900 900 900
wEEE 3 700 wEEE 2 700 800
HEREE i - wRgogEs| FERMAE | % | 0.75 339 300 300 300
ARG (K - ERHOIEIEY AEREIE| 0.75 200 200
otha® R | i 3 1,876 | * 1,400 ZFRiff —i 3 1,809 1,500 1,600 1,800
wEEE 3 700 wEEE 3 1,000 1,400
T | ik 4 2,502 2500 | raOrOFR| A% 2 1,206 1,200 1,200 1,200
BwEEE 4 1,250 wEEE 2 800 1,000
w | 3 1,876 1,800 [ — 2 1,206 1,200 1,200 1,200
BwEEE 3 900 BEEE 2 1,000 1,100
IR — ik - wanossras| JERMEHE | % | 0.75 452 400 400 400
ARG (K - ERHOIBIEY eI 0.75 200 300
HIERE FET | R 3 1,407 | * 1,000 PR — 3 1,357 1,100 1,200 1,300
BEER 3 500 BwEEK 3 700 1,000
% — i 4 1,876 1,800 | FRORUFHD| —fi% 2 904 900 900 900
Bkl 4 900 wEEK 2 600 700
I 83 3 1,407 1,400 &I M 2 904 900 900 900
wEEK 3 700 wEEE 2 700 800
mEEE iR - wRBOsEEL] ERAE R M ]0.75 339 300 300 300
B GRE - ERHOIBIEY #eEkEK| 0.75 200 200
1= i ik 3 1,173 | = 900 BRI} 514 3 1,131 900 1,000 1,100
BEEK 3 450 wEEK 3 600 800
Pk % 4 1,564 1,500 | FEOROFHD| —fk 2 754 700 700 700
wEEK] 4 750 wEEE] 2 400 500
I % 3 1,173 1,100 el % 2 754 700 700 700
wEEE 3 550 wEEE 2 600 600
eS| i - wRsossaL] ERMEAE | ik [ 0.75 282 200 200 200
ARG K - ERHOIEIEY R 0.75 100 100
ot PR | ik 3 1,173 | = 900 RS — i 3 1,131 900 1,000 1,100
wEEE 3 450 wEEE 3 600 800
T —fi 4 1,564 1,500 | FOROFHD| % 2 754 700 700 700
wEEE 4 750 wEEE 2 400 500
®H | K 3 1,173 1,100 &I — 2 754 700 700 700
wEEE 3 550 BEEE 2 600 600
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X RESTT |H2fm= R A% - wRsossaL] JERMEMAL | ik [ 0.75 282 200 200 200
ARG K - ERHOIEIHEY AREREE| 0.75 100 100
KB FET | iR 3 234 200 SRl —fi 3 226 200 200 200
wEEE 3 100 wEEE 3 100 100
Tt —i 4 312 300 | FEORUFHD| —fik 2 150 100 100 100
BEEE 4 150 wEEE 2 100 100
&KHE | K 3 234 200 & IH — 2 150 100 100 100
wEEE 3 100 wEEE 2 100 100
BRI —fK - wanossms] ERMEHE | —K | 0.75 56 100 100 100
R ERER - B O3EEY g 0.75 100 100
IR RS [BIRR=E RO 3 1,173 | = 900 1R —f 3 1,131 900 1,000 1,100
wEEE 3 450 BwEEE 3 600 800
P — % 4 1,564 1,500 | FHOROFRD| —fik 2 754 700 700 700
BEER 4 750 BwEEK 2 400 500
w’H | 3 1,173 1,100 w’H — 2 754 700 700 700
wEEE 3 550 BwEEE 2 600 600
nEEE R - wRsosEEy] ERMEAE | i [ 0.75 282 200 200 200
B GRE - ERHOITIEY BEEIE| 0.75 100 100
FHoERE R | M 3 1,642 | * 1,200 ‘PRI — % 3 1,583 1,300 1,400 1,500
wEEK 3 600 wEEK 3 900 1,200
T | R 4 2,189 2,100 | FHEORFED| —iiE 2 1,055 1,000 1,000 1,000
wEEE 4 1,050 BEEK 2 600 800
| R 3 1,642 1,600 el —% 2 1,055 1,000 1,000 1,000
wakEEl 3 800 wwEEK 2 800 900
e iR - wERBOsEEL]  ERAE R M ]0.75 395 300 300 300
TGRE K - ERHOIBIEY #EEE| 0.75 200 200
HERE ER) M 3 1,642 | * 1,200 PRI W 3 1,583 1,300 1,400 1,500
BEER 3 600 wEEK 3 900 1,200
Tk % 1 2,189 2,100 | reoOrROFEO| % 2 1,055 1,000 1,000 1,000
BEEK] 4 1,050 wEEK] 2 600 800
wW | % 3 1,642 1,600 " — i 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEEE 2 800 900
e iR - wRpossaLl JERMEAE | ik [ 0.75 395 300 300 300
ARG K - ERHOITIHEY BEEIE| 0.75 200 200
BAERE FET | iR 3 1,407 | = 1,000 SRl — i 3 1,357 1,100 1,200 1,300
wEEE 3 500 wEEE 3 700 1,000
T | ik 4 1,876 1,800 | FHOROFHD| —fik 2 904 900 900 900
BwEEE 4 900 wEEE 2 600 700
®H | K 3 1,407 1,400 el — 2 904 900 900 900
wEEE 3 700 wEEE 2 700 800
R —fK - wRgosEs| FERMAE | —#% | 0.75 339 300 300 300
ARG - ERHOIEHES HEREIE| 0.75 200 200
= Rl | 3 1,642 | * 1,200 Rl — 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
EE — 4 2,189 2,100 | reororRE| —fi% 2 1,055 1,000 1,000 1,000
BwEEE 4 1,050 BEEE 2 600 800
w’H | 3 1,642 1,600 wH — 2 1,055 1,000 1,000 1,000
wEEE 3 800 BwEEK 2 800 900
nEfEE R - wRsossEy] ERMEAR | M [ 0.75 395 300 300 300
B GRE - ERHOITIEY HEEIE| 0.75 200 200
KE FET | iR 3 234 200 PRI — i 3 226 200 200 200
Bkl 3 100 wEEE 3 100 100
P 514 4 312 300 | FEOROFED| i 2 150 100 100 100
BEEK 4 150 wEEE 2 100 100
il B3 3 234 200 & M 2 150 100 100 100
BEER 3 100 wEEK 2 100 100
mEEE iR - wERBosEHaL] AE R AR M 0.75 56 100 100 100
A GRE K - ERHOIBIEY BEEK| 0.75 100 100
i S R AT | 5 1R A ERiil % 3 1,642 1,600 R M 3 1,583 1,500 1,500 1,500
wEEK| 3 800 wEEEl 3 1,000 1,200
Ttk % 4 2,189 2,100 | reOrROFED| % 2 1,055 1,000 1,000 1,000
wEEE 4 1,050 wEEE 2 600 800
w’W | % 3 1,642 1,600 H[H — 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEREK 2 800 900
eS| iR - wRsossiaL] JERMEAE | ik [ 0.75 395 300 300 300
ARG - ERHOIEIHEY BEEIE| 0.75 200 200
HoE R FET | iR 3 1,642 1,600 SRl —i 3 1,583 1,500 1,500 1,500
wEEE 3 800 wEEE 3 1,000 1,200
T | ik 4 2,189 2,100 | FHORUF%D| — 2 1,055 1,000 1,000 1,000
BEREE 4 1,050 BEEE 2 600 800
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B RS | 2R KHE | K 3 1,642 1,600 &IH —fi% 2 1,055 1,000 1,000 1,000
wEEE 3 800 wEREE 2 800 900
eS| —i wRBossiaL] JERMEME | ik [ 0.75 395 300 300 300
ARG - ERHOIEIHEY BEREE| 0.75 200 200
HIERE ET | iR 3 1,173 1,100 LSl — % 3 1,131 1,100 1,100 1,100
wEEE 3 550 wEEE 3 700 900
% — % 4 1,564 1,500 | FHOROFRD| —fik 2 754 700 700 700
wEEE 4 750 wEEE 2 400 500
®H | K 3 1,173 1,100 &I — 2 754 700 700 700
wEEE 3 550 wEEE 2 600 600
FREE i - wanosams] EREAE | K | 0.75 282 200 200 200
ARG - ERHOITIEY HEEIE| 0.75 100 100
HAERE AT | 3 1,642 1,600 ERill — % 3 1,583 1,500 1,500 1,500
wEEE 3 800 wEEE 3 1,000 1,200
ik —fix 4 2,189 2,100 | FHEORFEHD| —ii% 2 1,055 1,000 1,000 1,000
g 4 1,050 BwEEE 2 600 800
wH | 3 1,642 1,600 & — & 2 1,055 1,000 1,000 1,000
BwEEK 3 800 BEEK 2 800 900
nEfEE| iR - wAnosgras] ERMEHE | % | 0.75 395 300 300 300
ARG (K - ERHOIBIHEY K| 0.75 200 200
HOHERE PR M 3 1,407 1,400 PR — 3 1,357 1,300 1,300 1,300
BwEEK 3 700 BwEEK 3 900 1,100
P — % 4 1,876 1,800 | FRORFHD| —fi% 2 904 900 900 900
AR 4 900 wwEEK 2 600 700
i 83 3 1,407 1,400 ] M 2 904 900 900 900
BEEK 3 700 wEEK 2 700 800
e iR - wERBosEEL] LR R M 0.75 339 300 300 300
TG K - ERHOIBIEY M| 0.75 200 200
fg“ﬁ%&%g' E | i 3 1,407 1,400 2 i 3 1,357 1,300 1,300 1,300
TR wEEK 3 700 wEEK 3 900 1,100
Th | 4 1,876 1,800 | FHOKRUF#HD| —f% 2 904 900 900 900
wEEE 4 900 wEEE 2 600 700
w’W | % 3 1,407 1,400 A& IH —fi% 2 904 900 900 900
BEEE 3 700 BEREE 2 700 800
HEREE i - wanossEs] ERMEHE | —f% | 0.75 339 300 300 300
ARG K - ERHOITHEY BEREIE| 0.75 200 200
%ﬁpﬁ%@% 3 3 1,173 1,100 ZE R —fi 3 1,131 1,100 1,100 1,100
LA A wEEE 3 550 wEEE 3 700 900
T | ik 4 1,564 1,500 | FOROFHD| % 2 754 700 700 700
wEEE 4 750 wEEE 2 400 500
®HE | K 3 1,173 1,100 &IH i 2 754 700 700 700
wEEE 3 550 BwEREE 2 600 600
RF | — i - wanossms] ERENE | —K | 0.75 282 200 200 200
ARG K - ERHOITIEY HEREIE| 0.75 100 100
o= PRl | R 3 2,346 2,300 ERi] — % 3 2,262 2,200 2,200 2,200
BwEEE 3 1,150 BwEEE 3 1,500 1,800
P —fix 4 3,128 3,100 | FHEORFED| —ii% 2 1,508 1,500 1,500 1,500
BwEEE 4 1,550 BwEEK 2 1,000 1,200
wH | 3 2,346 2,300 w"H —f 2 1,508 1,500 1,500 1,500
gkl 3 1,150 BEEK 2 1,200 1,300
| — % - wasosams] EREHE | K | 0.75 565 500 500 500
TGk - ERHOIBIEY BHEEIE| 0.75 300 400
PE¥ME LA |sh WA CER) | A L5 3 9,213 | * 6,900 “FRiT M 3 7,227 6,900 6,900 6,900 |45 % & x
wEEK 3 3,450 wEEE 3 4,600 5,700
P L5 4 18,427 | * 12,000 Tk M 4 14,458 12,000 12,000 12,000 |45 % & &
BEEE 4 6,000 wEEK 4 8,000 10,000
I B 3 18,427 | * 13,000 wH W 3 14,460 13,000 13,000 13,000 |4 % i &
BwEEE 3 6,500 wEEK 3 8,600 10,000
4A -fi% - 41,460 | * 28,000 4H M - 28,710 (HIRR) (HIRR) (HlRR)
HeRER - 14,000 BGRE R - CHIBR) (HIRR)
e iR wRBoEEL] IE AR S | 0.75 1,806 1,800 1,800 1,800
ARG K - ERHOITIHEY BEEIE| 0.75 1,200 1,500
W A (ERBY | PRl | iR 3 9,213 | * 6,900 Rl —fi& 3 7,227 6,900 6,900 6,900 |4z fif &
wEEE 3 3450 wEEE 3 4,600 5,700
e | 4 22,114 | * 14,000 Fik — % 4 17,353 14,000 14,000 14,000 |# % it
BEEE 4 7,000 BEEE 4 9,300 11,000
&KHE | K 3 22,110 | * 16,000 & IH — i 3 17,351 16,000 16,000 16,000 |4 & &
wEEE 3 8,000 wEEE 3 10,000 13,000
2R | - 48,093 | * 33,000 AR — % - 33,210 CHIRR) CHIRR) (GUIEI)
ARG (K - 16,500 ARG K - (HIRR) (HIRR)
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BOAT % E
£ g 4= o] N 4= Ayl el 3 g o | 3 i
PEMERH LM [, #8A (CLABY) [Reriid| —ik - wanossiay| FERMEAE | ik | 0.75 1,806 1,800 1,800 1,800
ARG K - ERHOIEIHEY AREREE| 0.75 1,200 1,500
RSy GERRIN) | PRl | — iR 3 4,599 | * 3,700 il —fi 3 4,435 3,700 3,700 3,700 |#E A &
wEEE 3 1,850 wEEE 3 2,400 3,000
Tt — i 4 6,132 6,100 | FEORUFRD| —fik 2 2,956 2,900 2,900 2,900
BEEE 4 3,050 wEEE 2 1,900 2,400
&KHE | K 3 4,599 4,500 & IH — i 2 2,956 2,900 2,900 2,900
wEEE 3 2,250 wEEE 2 2,400 2,600
BRI —fK - wanossms] ERMEHE | —K | 0.75 1,108 1,100 1,100 1,100
R ERER - B O3EEY g 0.75 700 900
Pk SRR | 3 2,111 | * 1,600 i i 3 2,035 1,600 1,600 1,600 |4 % i &
wEEE 3 800 BwEEE 3 1,000 1,300
EE — % 4 2,815 2800 | rOrROFRE| —fi% 2 1,357 1,300 1,300 1,300
BEER 4 1,400 BwEEK 2 900 1,100
wH | 3 2,111 2,100 &I — 2 1,357 1,300 1,300 1,300
wEER 3 1,050 kR 2 1,100 1,200
IR — ik - manossnay| JERMEHE | & | 0.75 508 400 400 500
B GRE - ERHOIEHES BEEIE| 0.75 300 400
HIERE R | M 3 1,971 | * 1,500 BRI} — % 3 1,900 1,500 1,500 1,500 |4z % &=
BEEK 3 750 wEEK 3 1,000 1,200
T | R 4 2,628 2,600 | FHEORFED| —iiE 2 1,267 1,200 1,200 1,200
wEEE 4 1,300 BwEEIR 2 800 1,000
| R 3 1,971 1,900 el —% 2 1,267 1,200 1,200 1,200
wakEEl 3 950 wEEK 2 1,000 1,100
e iR - wERBOsEEL]  ERAE R M ]0.75 475 400 400 400
o nilis - ERHOIBIEY #EEE| 0.75 200 300
HoERE ER) M 3 1,688 | * 1,200 PRI W 3 1,629 1,200 1,200 1,200 |47 % &
BEER 3 600 wEEK 3 800 1,000
Tk % 1 2,251 2,200 | reOROFED| % 2 1,086 1,000 1,000 1,000
BEEK] 4 1,100 wEEK] 2 700 800
wW | % 3 1,688 1,600 el — i 2 1,086 1,000 1,000 1,000
wEEE 3 800 wEEE 2 800 900
e iR - wRpossaLl JERMEAE | ik [ 0.75 407 300 300 400
ARG K - ERHOITIHEY BEEIE| 0.75 200 300
HIERE R | iR 3 938 900 gaill — % 3 904 900 900 900
wEEE 3 450 wEEE 3 600 700
T | ik 4 1,251 1,200 | FHOROFHD|  —fik 2 603 600 600 600
BwEEE 4 600 wEEE 2 400 500
®H | K 3 938 900 el — % 2 603 600 600 600
wEEE 3 450 wEEE 2 500 500
R —fK - wanosams] EREHE | —& | 0.75 226 200 200 200
ARG - ERHOIEHES HEREIE| 0.75 100 100
sttt A CER) PR 3 20,750 | 18,000 R — 3 13,468 13,000 13,000 13,000
B3 % 1 41,492 | * 30,000 ik .14 4 26,945 26,000 26,000 26,000
we | 3 41,487 | * 38,000 il — i 3 26,949 26,000 26,000 26,000
2R | ik - 93,356 | * 77,000 4R —fi% - 58,500 (EIRR) (HIRR) (HlRR)
IR —fik - wanossray| JERMEHE | % |0.75 3,367 3,300 3,300 3,300
A= (CEEBYD | PR | Rk 3 20,750 | * 18,000 R — i 3 13,468 13,000 13,000 13,000
T R 4 49,790 | * 36,000 T —fi& 4 32,340 32,000 32,000 32,000
wHE | K 3 49,790 | * 46,000 &IH — i 3 32,336 32,000 32,000 32,000
EH | - 108,297 | * 90,000 AH —f% - 69,300 (HIRR) (HIRR) (HIRR)
HEREE i - wRgogEs| FERMAE | % | 0.75 3,367 3,300 3,300 3,300
HIERE ERiil W 3 2,346 | * 1,800 “FRiT M 3 2,262 1,900 2,000 2,200
wEEK 3 900 wEEE 3 1,300 1,700
P 53 4 3,128 3,100 | reorR o) % 2 1,508 1,500 1,500 1,500
BEER 4 1,550 wEEK 2 1,000 1,200
I B 3 2,346 2,300 ] W 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 wEEK 2 1,200 1,300
mEEE iR - wRsosaras] LR R M ]0.75 565 500 500 500
ARG K - ERHOIBIEY K| 0.75 300 400
M E ER:) % 3 2,815 | * 2,200 LR} B3 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 wEEE 3 1,600 2,100
e | 4 3,753 3,700 | FEORBF#HD| —fiE 2 1,809 1,800 1,800 1,800
wEEK 4 1,850 wEREK 2 1,200 1,500
wKH | K 3 2,815 2,800 &IH —fi% 2 1,809 1,800 1,800 1,800
wEEE 3 1,400 BEEE 2 1,500 1,600
RS — i - wanosams] ERERE | —fK | 0.75 678 600 600 600
ARG - ERHOITHEY AEREIE| 0.75 400 500
HOEAE R | iR 3 1,642 | * 1,200 TRl — % 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
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BOAT %
£ g s L | 4= n| el g e F &3 sz
EEg i S A P T Ea Tk | ik 4 2,189 2,100 | FEOROF#D| —#t 2 1,055 1,000 1,000 1,000
BEEE 4 1,050 wEREE 2 600 800
wKH | K 3 1,642 1,600 &IH — i 2 1,055 1,000 1,000 1,000
wEEE 3 800 BEREK 2 800 900
SRR — A% - wanossEs] ERMEHAE | —f | 0.75 395 300 300 300
ARG K - ERHOITIHEY BEREE| 0.75 200 200
et R | ik 3 1,642 | * 1,200 FiT — i 3 1,583 1,300 1,400 1,500
wEEE 3 600 wEEE 3 900 1,200
T | ik 4 2,189 2,100 | FEORUFHD| —i 2 1,055 1,000 1,000 1,000
BwEEE 4 1,050 wEEE 2 600 800
we | 3 1,642 1,600 il — i 2 1,055 1,000 1,000 1,000
wEEE 3 800 BwEEE 2 800 900
WIS i - wRposEs| FERME | —i% | 0.75 395 300 300 300
ARG - ERHOITIEY BEREIE] 0.75 200 200
WURE AU | A | 3 2,815 | * 2,200 PRl — i 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 BwEEE 3 1,600 2,100
T | R 4 3,753 3,700 | FEOROFHO| % 2 1,809 1,800 1,800 1,800
BEEE 4 1,850 BEEK 2 1,200 1,500
wH | ik 3 2,815 2,800 whH —fi% 2 1,809 1,800 1,800 1,800
wEEK 3 1,400 BwEEK 2 1,500 1,600
nEfEE iR - wmAsosaras] JERMEHE | % | 0.75 678 600 600 600
A GRE K - ERHOITEY BHEEIE| 0.75 400 500
WUME AR | PR | R 3 1,876 | * 1,400 PRI — 3 1,809 1,500 1,600 1,800
wHekER| 3 700 wwekEK| 3 1,000 1,400
EEC M 4 2,502 2500 | reororE| A% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEEK 2 800 1,000
I L 3 1,876 1,800 el W 2 1,206 1,200 1,200 1,200
BwEEE 3 900 wEEK] 2 1,000 1,100
e iR - wRBoEEL| AEEE AR i 0.75 452 400 400 400
ARG K - ERHOIBIHEY BEEK| 0.75 200 300
ot | ik 3 1,407 | * 1,000 ERil —fi% 3 1,357 1,100 1,200 1,300
wEEE 3 500 wEEE 3 700 1,000
e | 4 1,876 1,800 | FH#OROT#| —ii% 2 904 900 900 900
BEEE 4 900 BEREE 2 600 700
®HE | K 3 1,407 1,400 &IH — i 2 904 900 900 900
wEEE 3 700 wEEE 2 700 800
HERIEE| A% - wRBosEaL] JERMEAE | ik | 0.75 339 300 300 300
ARG - ERHOITIHEY BEEIE| 0.75 200 200
LI (LEMH) | Fa | ik 3 3,753 | * 3,000 FiT — i 3 3,619 3,200 3,400 3,600
wEEE 3 1,500 wEEE 3 2,200 2,900
T | —ik 4 5,004 5000 | FEORUFRD| —fik 2 2,412 2,400 2,400 2,400
wEEE 4 2,500 BwEREE 2 1,600 2,000
w | 3 3,753 3,700 pidiil — i 2 2,412 2,400 2,400 2,400
wEEE 3 1,850 wEEE 2 2,000 2,200
E | — i - wRsoEEs| FERME | —i% | 0.75 904 900 900 900
R GRE K - ERHOITIEY EEIE] 0.75 600 700
T ERER) | A | 3 1,876 | * 1,400 ‘PRl — i 3 1,809 1,500 1,600 1,800
wEEE 3 700 BwEEK 3 1,000 1,400
T | R 4 2,502 2,500 | FHEORFED| i 2 1,206 1,200 1,200 1,200
Bk 4 1,250 BEEK 2 800 1,000
wH | R 3 1,876 1,800 ®IH —i 2 1,206 1,200 1,200 1,200
HEkER| 3 900 wEEK 2 1,000 1,100
IR i - wRposrEs| ARl R % [ 0.75 452 400 400 400
T GRE K - ERHOITIEY HEEE| 0.75 200 300
[ISUEUES ERiil 55 3 3,753 3,700 ‘PRI M 3 3,619 3,600 3,600 3,600
BEEK 3 1,850 wEEk 3 2,400 3,000
Tk B3 4 5,001 5000 | FEOROFRO| —f% 2 2,412 2,400 2,400 2,400
BEEE 4 2,500 wEEK 2 1,600 2,000
I B3 3 3,753 3,700 el W 2 2,412 2,400 2,400 2,400
a3 1,850 wEEE] 2 2,000 2,200
e iR - wRBoEEL] IE AR S | 0.75 904 900 900 900
ARG K - ERHOITIHEY BEEIE| 0.75 600 700
COREE o FET | MR 1 1,055 | * 800 Rl — 1 1,017 800 900 1,000
wEEE 1 400 wEEK 1 600 800
k| ik 1 1,055 1,000 % — i 1 1,017 1,000 1,000 1,000
wEEE 1 500 BEEE 1 600 800
&KHE | K 1 1,055 1,000 & IH — 1 1,017 1,000 1,000 1,000
wEEE 1 500 BwEEE 1 600 800
TWrAnHoE | | ik 1 156 100 Tl —i 1 150 100 100 100
T | R 1 156 100 Ttk —fi% 1 150 100 100 100
®H | K 1 156 100 &IH —ii 1 150 100 100 100
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BOAT %
£ g s L | 4= Ay el g e F &3 sz
taHE v F— F—L CER) FE | ik 3 38,463 | * 36,000 RS — % 3 24,966 24,000 24,000 24,000
T | R 4 76,912 | * 72,000 F % —fi& 4 49,947 49,000 49,000 49,000
®KH | K 3 76,904 | * 72,000 &IH — i 3 49,954 49,000 49,000 49,000
aH | - 173,051 | * 162,000 4H —fi% - 109,800 (HIBR) (EIRR) (HIRR)
WEREE i - wanosaEs] ERMERE | — | 0.75 6,241 6,200 6,200 6,200
A= (ERM) | PR | R 3 38,463 | * 36,000 PRI —fi% 3 24,966 24,000 24,000 24,000
T | ik 4 92,294 | * 86,000 % — % 4 59,948 59,000 59,000 59,000
il B 3 92,294 | * 86,000 wH M 3 59,941 59,000 59,000 59,000
4H — % - 200,745 | * 187,000 4 H — i - 127,800 CHIRR) (HIRR) (HIBR)
R — i - wRsosEaL] kR AR i | 0.75 6,241 6,200 6,200 6,200
HORRE RN 4 3 1,876 | * 1,400 T — i 3 1,809 1,500 1,600 1,800
HEEAR] 3 700 BwEEE 3 1,000 1,400
EE — % 4 2,502 2500 | rOrROFRD| —fi% 2 1,206 1,200 1,200 1,200
wEEE 4 1,250 BwEEK 2 800 1,000
wH | 3 1,876 1,800 &I — i 2 1,206 1,200 1,200 1,200
wEEE 3 900 kR 2 1,000 1,100
IR — ik - wRsosEEy] ERMEAE | i [ 0.75 452 400 400 400
B GRE - ERHOITIEY eI 0.75 200 300
HOERE R | M 3 1,876 | * 1,400 ‘PRI — % 3 1,809 1,500 1,600 1,800
BEEK 3 700 wEEIK 3 1,000 1,400
TE | 4 2,502 2,500 | FHEORFED| —iiF 2 1,206 1,200 1,200 1,200
wEEE 4 1,250 BwEEIR 2 800 1,000
| R 3 1,876 1,800 el —% 2 1,206 1,200 1,200 1,200
wakEEl 3 900 wwEEK 2 1,000 1,100
e iR - wERBOsEEL]  ERAE R M ]0.75 452 400 400 400
o nilis - ERHOIBIEY #EEE| 0.75 200 300
HTERE ER) M 3 1,876 | * 1,400 PRI W 3 1,809 1,500 1,600 1,800
BEER 3 700 wEEK 3 1,000 1,400
T4 % 1 2,502 2,500 | reorR 0RO % 2 1,206 1,200 1,200 1,200
BEEK] 4 1,250 wEEK] 2 800 1,000
wW | % 3 1,876 1,800 el — i 2 1,206 1,200 1,200 1,200
wEEE 3 900 wEEE 2 1,000 1,100
e iR - wRpossaLl JERMEAE | ik [ 0.75 452 400 400 400
ARG K - ERHOITIHEY BEEIE| 0.75 200 300
wRsE (e | FET | 3 2,111 | * 1,600 ZF-Rif — i 3 2,035 1,700 1,800 2,000
iR ) wEEE| 3 800 wEEAE| 3 1,200 1,600
T | ik 4 2,815 2,800 | ruOrRUFHD| —f% 2 1,357 1,300 1,300 1,300
BwEEE 4 1,400 wEEE 2 900 1,100
®H | K 3 2,111 2,100 el — 2 1,357 1,300 1,300 1,300
wEEE 3 1,050 wEEE 2 1,100 1,200
R —fK - wRgosEs| FERMAE | —#% | 0.75 508 400 400 500
ARG - ERHOIEHES HEREAR] 0.75 300 400
W (Eas | PR | 3 1,173 | = 900 i — i 3 1,131 900 1,000 1,100
AL GE) wEEE| 3 450 whEAE| 3 600 800
EE — 4 1,564 1,500 | FHEOROFRD| —fik 2 754 700 700 700
BEEIR 4 750 BEEE 2 400 500
wH | R 3 1,173 1,100 &I — i 2 754 700 700 700
wEEE 3 550 BwEEK 2 600 600
BRI — ik - wRsossEy] ERMEAR | M [ 0.75 282 200 200 200
B GRE - ERHOITIEY eI 0.75 100 100
Hofn= FET | R 3 2,346 | * 1,800 PRI — 3 2,262 1,900 2,000 2,200
Bkl 3 900 wEEE 3 1,300 1,700
P M 4 3,128 3,100 | reor o) % 2 1,508 1,500 1,500 1,500
BEEIR 4 1,550 wEEE 2 1,000 1,200
I B3 3 2,346 2,300 & M 2 1,508 1,500 1,500 1,500
BEER 3 1,150 wEEK 2 1,200 1,300
R % - wRsosaras] LR R % [ 0.75 565 500 500 500
o nilis - ERHOIBIEY BEEK| 0.75 300 400
IR = ERiil -fi% 3 5,161 | * 4,000 PRl W 3 4,976 4,300 4,600 4,900
wEEK| 3 2,000 wEEEl 3 2,900 3,900
Ttk % 4 6,881 6,800 | FHOKROFED| —iE 2 3,317 3,300 3,300 3,300
wEEE 4 3,400 wEEE 2 2,200 2,700
wW | % 3 5,161 5,100 ediiil — % 2 3,317 3,300 3,300 3,300
wEEE 3 2,550 wEREK 2 2,800 3,000
WEREE i - wanossms] ERERE | % | 0.75 1,244 1,200 1,200 1,200
ARG - ERHOIEIHEY BEEIE| 0.75 800 1,000
Un—H L R | i 3 3,753 | * 3,000 FiT — i 3 3,619 3,200 3,400 3,600
wEEE 3 1,500 wEEE 3 2,200 2,900
T | ik 4 5,004 5000 | FEORUFRD| —fik 2 2,412 2,400 2,400 2,400
BEREE 4 2,500 BEEE 2 1,600 2,000
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BOAT %
£ g s L | 4= Ay el g e F &3 sz
HERHHE RS — (U= L= KHE | K 3 3,753 3,700 &IH —iik 2 2,412 2,400 2,400 2,400
wEEE 3 1,850 wEREE 2 2,000 2,200
nEEE —ik - wRBossiaL] JERMEME | ik [ 0.75 904 900 900 900
ARG - ERHOIEIHEY BEREE| 0.75 600 700
B (Forfii) | 2R 3 10 19,712 19,000 4 A — % 10 19,012 19,000 19,000 19,000
BwEEE 10 9,500 BwEEE 10 12,000 15,000
R (R | el | iR 3 9,198 | * 7,300 FiT — i 3 8,870 7,800 8,300 8,800
wEEE 3 3,650 wEEE 3 5,300 7,000
T | ik 4 12,264 12,000 | FEORUFRD| —fik 2 5,913 5,900 5,900 5,900
BwEEE 4 6,000 wEEE 2 3,900 4,900
we | 3 9,198 9,100 bl — i 2 5,913 5,900 5,900 5,900
wEEE 3 4,550 BwEEE 2 5,000 5,400
WIS i - wRposEs| FERMAE | —i% | 0.75 2,217 2,100 2,100 2,200
ARG - ERHOITIEY BEREIE] 0.75 1,400 1,800
A 23 FIERE Rl | i 3 1,876 | * 1,200 PRl — i 3 1,809 1,200 1,200 1,200 |45 & fit &
wEEE 3 600 BwEEE 3 800 1,000
T | R 4 2,502 | * 2,400 | FEORFED| i 2 1,206 1,200 1,200 1,200
Bkl 4 1,200 BEEK 2 800 1,000
| ik 3 1,876 1,800 & — 2 1,206 1,200 1,200 1,200
wEEK 3 900 BwEEK 2 1,000 1,100
nEfEE iR - wmAsosaras] JERMEHE | % | 0.75 452 300 300 400
A GRE K - ERHOITEY BHEEIE| 0.75 200 300
Eirk S5 PRl ik 3 1,642 | 1,000 LR} —fi& 3 1,583 1,000 1,000 1,000 |4 % fif &
wHekER| 3 500 BEEER 3 600 800
Tk W 4 2,189 2,100 | FEOROF#D| —i 2 1,055 1,000 1,000 1,000
BEEE 4 1,050 wEEK 2 600 800
I L 3 1,642 1,600 el W 2 1,055 1,000 1,000 1,000
BwEEE 3 800 wEEK] 2 800 900
W - i3 R BT TR R % [ 0.75 395 300 300 300
ARG K - ERHOIBIHEY BEEK| 0.75 200 200
HIERE AT | MR 3 2,346 | * 1,500 ERil —fi% 3 2,262 1,500 1,500 1,500 |4 % fEE &
wEEE 3 750 wEEE 3 1,000 1,200
e | 4 3,128 3,100 | FEORTHD| —fi% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BEREE 2 1,000 1,200
®KHE | K 3 2,346 2,300 &IH — i 2 1,508 1,500 1,500 1,500
wEEE 3 1,150 wEEE 2 1,200 1,300
HEREE i - wanossEs] ERMEAE | —f% | 0.75 565 400 400 500
ARG - ERHOITIHEY BEEIE| 0.75 300 400
PR EE () 1[5 % 2 4,692 4,600 1A — i 2 4,524 4,500 4,500 4,500
W5 (RIEK) /" W 2 10,322 10,000 l M 2 9,952 9,900 9,900 9,900
il B (FL4E) i —fi 2 15,014 | * 14,000 1 — % 2 14,476 14,000 14,000 14,000
S ESS ANEIE GF-H) LR W 3 22,123 22,000 ‘PRI M 3 22,123 22,000 22,000 22,000
e | i 4 44,246 44,000 ik — % 4 44,246 44,000 44,000 44,000
! B3 4 58,995 58,000 il .14 4 58,995 58,000 58,000 58,000
AR | - 111,600 111,000 4H — - 111,600 111,000 111,000 111,000
nEREE iR - waposEEL] ERMEAR | ik [ 0.75 5,530 5,500 5,500 5,500
AN (CERB) | R | R 3 26,545 26,000 PRl — % 3 26,545 26,000 26,000 26,000
Tth | 4 53,099 53,000 % — i 4 53,099 53,000 53,000 53,000
wH | 4 70,787 70,000 w"H — 4 70,787 70,000 70,000 70,000
2R | ik - 134,100 134,000 4 — % - 134,100 134,000 134,000 134,000
| — % - wasosEms] EREHE | K | 0.75 5,530 5,500 5,500 5,500
KEA—VCER) | Rl | —fik 3 13,820 13,000 Tl — i 3 10,840 10,000 10,000 10,000
wEEE 3 6,500 wEEE 3 7,600 8,800
-t —i 4 27,640 27,000 % —i 4 21,687 21,000 21,000 21,000
BwEEE 4 13,500 BEEE 4 16,000 18,000
wH | K 4 36,854 36,000 &IH — i 4 28,921 28,000 28,000 28,000
4 18,000 wEEE 4 21,000 24,000
AH — i - 68,400 68,000 A H — - 53,100 (HIBR) CHIBR) (BB
et olnillS - 34,000 ARG K - (HIRR) (HIRR)
WEREE i - wRposEs| JERME | —i% | 0.75 2,710 2,700 2,700 2,700
ARG (K - ERHOITIEY AEREIE| 0.75 2,200 2,400
KRA—V(EAS) | Rl | % 3 13,820 13,000 ERi] — 3 10,840 10,000 10,000 10,000
wEEE 3 6,500 BwEEE 3 7,600 8,800
P —i% 4 32,400 32,000 R — i 4 26,030 26,000 26,000 26,000
k| 4 16,000 BEEK 4 19,000 22,000
| R 4 43,200 43,000 wh —fi% 4 34,702 34,000 34,000 34,000
kAR 4 21,500 BEER| 4 25,000 29,000
4 A 55 - 79,200 79,000 4A M - 63,000 (HIRR) (HIRR) (HIRR)
TGRE K - 39,500 A GRE K - CHIBR) (HIRR)
e iR - wRBosEms] ERMEME | & [ 0.75 2,710 2,700 2,700 2,700
BGRE - ERHOIBIEY #eEkEk| 0.75 2,200 2,400
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BOAT %
& g s L | 3 = n e g ey | =% i gy
B Vfﬂ%ﬂgnfii FET | 3 8,445 8,400 Fil —fi 3 8,143 8,100 8,100 8,100
DA (TH)) - wEEE 3 4,200 wEEE 3 5,500 6,800
ER: 3 4 11,260 11,000 T4 — % 4 10,857 10,000 10,000 10,000
BEEE 4 5,500 BEREE 4 7,000 8,500
wKH | K 4 11,260 11,000 &M — i 4 10,857 10,000 10,000 10,000
BEEE 4 5,500 wEEE 4 7,000 8,500
4 H — % - 27,360 27,000 2H — % - 25,290 (HIBR) (HIBR) (BB
ARG - 13,500 ARG K - (HIRR) (HIRR)
BRI —fK - wanossms] ERMEHE | —K | 0.75 2,035 2,000 2,000 2,000
ARG (K - ERHOIEHEY AEREIE| 0.75 1,500 1,700
5(%%‘;?;;;/{ R 3 8,445 8,400 ZFRT i 3 8,143 8,100 8,100 8,100
BN (- F ?ﬁt')j): wEEE 3 4,200 BwEEE 3 5,500 6,800
F4 —fi 4 13,514 13,000 P4 — % 1 13,032 13,000 13,000 13,000
wEEE 4 6,500 wEEE 4 8,600 10,000
wH | 4 13,514 13,000 &I — 4 13,032 13,000 13,000 13,000
wEEE 4 6,500 BwEEE 4 8,600 10,000
aH | - 30,960 30,000 4H —fi% - 30,690 (HIRR) (HIRR) (HIRR)
B GRE 15,000 B GRE K - (HIRR) (Gl
mEEE iR - wRBOsEL] ERMEME | i | 0.75 2,035 2,000 2,000 2,000
ARG (K - ERHOITEY BEEIE| 0.75 1,500 1,700
E‘};’%ﬁﬁ%&” R | 3 4,200 4200 ZFAT — 1 3 4,072 4000 4,000 4,000
0 ;“ waEk 3 2,100 BwEEK 3 2,700 3,300
T % 4 5,500 5,500 ki3 —fi% 4 5,429 5,400 5,400 5,400
Bkl 4 2,750 HEEK| 4 3,600 4,500
I 8 4 5,500 5,500 ®IH M 4 5,429 5,400 5,400 5,400
BEER 4 2,750 wEEK 4 3,600 4,500
4A W - 13,500 13,500 4H M - 12,645 (HIRR) (HIRR) (HIRR)
e nilie - 6,750 ARG K - (HlRR) (HlRR)
IR — i wRBoEEL| AEEE AR ] 0.75 1,017 1,000 1,000 1,000
ARG K - ERHOIBIHEY BEEK| 0.75 700 800
‘éﬁi&i@ﬁ%&”ﬂ FET | 3 4,200 4200 Fil — i 3 4,072 4000 4000 4000
) )‘ ) wEEE 3 2,100 wEEE 3 2,700 3,300
Tk | ik 4 6,500 6,500 % —fi% 4 6,516 6,500 6,500 6,500
BEEE 4 3,250 BEEE 4 4,300 5,400
®KHE | K 4 6,500 6,500 &IH — i 4 6,516 6,500 6,500 6,500
wEEK 4 3,250 BwEEE 4 4,300 5,400
2R | ik - 15,000 15,000 4R — % - 15,345 (GUEI) (HIRR) (FlRR)
ARG - 7,500 ARG K - (HIRR) (HIRR)
HEREE - wmanossms] ERMEHAE | K | 0.75 1,017 1,000 1,000 1,000
ARG (K - ERHOIEIEY AEREIE| 0.75 700 800
WTERDR—L |9~ 13MF| —fik 1 747 | % 500 9~ 130 —i 1 719 500 600 700
(BTEBROFI) | 13~oomg| 1 747 700 | 13~220% M 1 719 700 700 700
FWISHLCER) | AT | 3 4,391 4,300 i — i 3 4,391 4,300 4,300 4,300
wEEE 3 2,150 wEEE 3 2,800 3,500
Fk —fi 4 8,785 8,700 P4 — % 4 8,785 8,700 8,700 8,700
BwEEE 4 4,350 BwEEE 4 5,800 7,200
w’H | % 4 11,716 11,000 wH — 4 11,716 11,000 11,000 11,000
BwEEE 4 5,500 BwEEK 4 7,300 9,100
£H — & - 21,600 21,000 4H —% - 21,600 21,000 21,000 21,000
ko nili - 10,500 A GRE K - 14,000 17,000
e iR - wRBosEs] ERMEME | ik | 0.75 1,097 1,000 1,000 1,000
TGk - ERHOIBIEY BHEEIE| 0.75 700 800
FOZHL R | R L5 3 4,829 4,800 BRI} M 3 4,829 4,800 4,800 4,800
wEEK 3 2,400 wEEE 3 3,200 4,000
P L5 4 9,656 9,600 LR 5.3 4 9,656 9,600 9,600 9,600
BEER 4 4,800 wEEK 4 6,400 8,000
I L5 4 12,872 12,000 wH 514 4 12,872 12,000 12,000 12,000
BEEE 4 6,000 BEEK 4 8,000 10,000
4HA % - 23,760 23,000 4H M - 23,760 23,000 23,000 23,000
ARG K - 11,500 ARG - 15,000 19,000
R A% wRsossms| IR % | 0.75 1,207 1,200 1,200 1,200
ARG K - ERHOITIHEY BEEIE| 0.75 800 1,000
FWIH2CER) | il | i 3 1,808 1,800 Rl — % 3 1,808 1,800 1,800 1,800
wEEE 3 900 wEEE 3 1,200 1,500
Tk | ik 4 3,617 3,600 % —fi% 4 3,617 3,600 3,600 3,600
BEEE 4 1,800 BEEE 4 2,400 3,000
&KHE | K 4 4,824 4,800 & IH —fi 4 4,824 4,800 4,800 4,800
wEEE 4 2,400 wEEE 4 3,200 4,000
4 H — % - 9,180 9,100 2H —fi% - 9,180 9,100 9,100 9,100
ARG (K - 4,550 ARG K - 6,000 7,500
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BOAT %
£ g s L | 4= Ay el g e F &3 sz
ES RS W2 CFA) || —fik - wRsossaL] JERMEMAL | ik [ 0.75 452 400 400 400
ARG K - ERHOIEIHEY AREREE| 0.75 300 300
FOIg2 (EEB | PR | R 3 1,988 1,900 SRl —fi 3 1,988 1,900 1,900 1,900
wEEE 3 950 wEEE 3 1,200 1,500
ERE 3 4 3,976 3,900 % — % 4 3,976 3,900 3,900 3,900
BEEE 4 1,950 wEEE 4 2,600 3,200
&KHE | K 4 5,300 5,300 & IH — i 4 5,300 5,300 5,300 5,300
wEEE 4 2,650 wEEE 4 3,500 4,400
4H — % - 9,990 9,900 4 H — i - 9,990 9,900 9,900 9,900
ARG (K - 4,950 ARG K - 6,600 8,200
FREE i - wanosams] EREAE | K | 0.75 497 400 400 400
ARG - ERHOITIEY HEEIE| 0.75 300 300
FWIE3CER) | PR | i 3 2,066 2,000 ERill — % 3 2,066 2,000 2,000 2,000
wEEE 3 1,000 wEEE 3 1,300 1,600
7 —% 4 4,134 4,100 P — i 4 4,134 4,100 4,100 4,100
g 4 2,050 BwEEE 4 2,700 3,400
wH | R 4 5,513 5,500 &I —f 4 5,513 5,500 5,500 5,500
BEEE 4 2,750 BEEK 4 3,600 4,500
R | - 10,440 10,000 4H —f% - 10,440 10,000 10,000 10,000
ARG (K - 5,000 ARG (K - 6,600 8,300
nEfEE iR - wmAsosaras] JERMEHE | % | 0.75 516 500 500 500
A GRE K - ERHOITEY BHEEIE| 0.75 300 400
FOZHB (LA | PR | R 3 2,272 2,200 PRI —fi% 3 2,272 2,200 2,200 2,200
wHekER| 3 1,100 BEEER 3 1,400 1,800
EEC L5 4 4,544 4,500 T4 M 4 4,544 4,500 4,500 4,500
BEEE 4 2,250 BEEKl 4 3,000 3,700
I L 4 6,057 6,000 et W 4 6,057 6,000 6,000 6,000
BEEIE 4 3,000 BG4 4,000 5,000
4H % - 11,430 11,000 4H .14 - 11,430 11,000 11,000 11,000
ARG K - 5,500 ARG K - 7,300 9,100
e i - wRsossaL] ERMEAE | ik [ 0.75 568 500 500 500
ARG - ERHOITIHEY M| 0.75 300 400
RS s FET | R 3 8,914 8,900 R — 3 8,595 8,500 8,500 8,500
BEEE 3 4,450 BEEE 3 5,800 7,100
-t —i 4 11,886 11,000 | F#OROFED| —iik 2 5,730 5,500 5,600 5,700
wEEK 4 5,500 wEEE 2 3,700 4,700
wH | K 3 8,914 8,900 &IH — i 2 5,730 5,700 5,700 5,700
wEEE 3 4,450 wEEE 2 4,800 5,200
HEREE - wmanossms] ERMEHAE | K | 0.75 2,148 2,100 2,100 2,100
ARG (K - ERHOIEIEY AEREIE| 0.75 1,500 1,800
T == R | iR 3 5,630 5,600 i — i 3 5,428 5,400 5,400 5,400
wEEE 3 2,800 wEEE 3 3,600 4,500
% — 4 7,507 7,500 | FEOROFED| —iik 2 3,619 3,600 3,600 3,600
BwEEE 4 3,750 wEEE 2 2,400 3,000
we | 3 5,630 5,600 [ — i 2 3,619 3,600 3,600 3,600
BwEEE 3 2,800 BEEE 2 3,000 3,300
nEEE —iR - wRBOsEL] ERMEMAE | M | 0.75 1,357 1,300 1,300 1,300
ARG (K - ERHOITIEY HEEIE] 0.75 900 1,100
H1FERE FET | R 3 4,692 4,600 PR — 3 4,524 4,500 4,500 4,500
gkl 3 2,300 BwEEK 3 3,000 3,700
4 % 4 6,256 6,200 T4 —fi& 4 6,032 6,000 6,000 6,000
WEER| 4 3,100 BEER| 4 4,000 5,000
I B3 3 4,692 4,600 &I M 3 4,524 4,500 4,500 4,500
wEEK 3 2,300 BEERl 3 3,000 3,700
R A - wRBOsEEL] ERAE R M [0.75 1,131 1,100 1,100 1,100
BakE A - FERHOEEY BEkEK| 0.75 800 900
2 ER:] L5 3 1,692 4,600 PRI M 3 4,524 4,500 4,500 4,500
BwEEE 3 2,300 BEEKl 3 3,000 3,700
B3 % 4 6,256 6,200 P4 M 4 6,032 6,000 6,000 6,000
Bk 4 3,100 wEEK] 4 4,000 5,000
KIH % 3 4,692 4,600 & IH f% 3 4,524 4,500 4,500 4,500
wEEE 3 2,300 wEEE 3 3,000 3,700
HERIEE| i - wRgosEtEs| FERME | % | 0.75 1,131 1,100 1,100 1,100
ARG K - ERHOIEIEY R 0.75 800 900
EIRES & FET | R 3 5,161 5,100 FRi —fi% 3 4,976 4,900 4,900 4,900
wEEE 3 2,550 wEEE 3 3,300 4,100
4% —i 4 6,881 6,800 % — i 4 6,635 6,600 6,600 6,600
wEEE 4 3,400 wEEE 4 4,400 5,500
®H | K 3 5,161 5,100 &IH — 3 4,976 4,900 4,900 4,900
wEEE 3 2,550 wEEE 3 3,300 4,100
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BOAT %
£ g s L | 4= Ay el g e &3 sz
RS IERRE R A% - wRsossaL] JERMEAE | ik [ 0.75 1,244 1,200 1,200 1,200
ARG K - ERHOIEIHEY AREREE| 0.75 900 1,000
LR FET | iR 3 5,161 5,100 il —fi 3 4,976 4,900 4,900 4,900
wEEE 3 2,550 wEEE 3 3,300 4,100
ERE 3 4 6,881 6,800 % — % 4 6,635 6,600 6,600 6,600
BEEE 4 3,400 wEEE 4 4,400 5,500
&KHE | K 3 5,161 5,100 & IH — i 3 4,976 4,900 4,900 4,900
wEEE 3 2,550 wEEE 3 3,300 4,100
BRI —fK - wanossms] ERMEHE | —K | 0.75 1,244 1,200 1,200 1,200
ARG (K - ERHOIEHEY AEREIE| 0.75 900 1,000
KHBAREKE | K= R | R 3 3,167 | * 2,500 T — 3 3,053 2,600 2,800 3,000
wEEE 3 1,250 BwEEE 3 1,800 2,400
F4 —fi 4 4,222 4,200 P4 — % 1 4,071 4,000 4,000 4,000
e 4 2,100 wEEE 4 2,700 3,300
S i - wRsosEs| FERMTE | —i% | 0.75 763 700 700 700
R ERER - BEAHOEIEY REREIE) 0.75 400 500
MOEAREE |HE PR R 3 5,630 5,600 BRI} — 3 5,428 5,400 5,400 5,400
BwEEE 3 2,800 BEEK 3 3,600 4,500
i — % 4 7,507 7,500 T4 —f 4 7,238 7,200 7,200 7,200
BwEEK 4 3,750 BwEEK 4 4,900 6,000
mEEE R - wRBOsEEs] ERMEMAE | & | 0.75 1,357 1,300 1,300 1,300
A GRE K - ERHOITEY BHEEIE| 0.75 900 1,100
AEREE | RE FE | R 3 703 700 PRI — % 3 678 600 600 600
wHekER| 3 350 BEER| 3 400 500
P L5 4 938 900 T4 M 4 904 900 900 900
BEEE 4 450 BEEKl 4 600 700
e iR - wRsosEras] LR R M 0.75 169 100 100 100
TG K - ERHOIBIEY M| 0.75 100 100
)| EEE R A | SR Esii] % 3 1,407 1,400 KRl B3 3 1,357 1,300 1,300 1,300
wEEK 3 700 wEEK 3 900 1,100
T | R 4 1,876 1,800 4% — % 4 1,809 1,800 1,800 1,800
wEEE 4 900 wEEE 4 1,200 1,500
e A% - wRpossaLl JERMEAE | ik [ 0.75 508 400 400 500
ARG K - ERHOITIHEY BEEIE| 0.75 300 400
k=2 R | ik 3 938 900 gaill — % 3 904 900 900 900
wEEE 3 450 wEEE 3 600 700
Ttk | i 4 1,251 1,200 % — i 4 1,206 1,200 1,200 1,200
BwEEE 4 600 BwEEE 4 800 1,000
HEREE - wanossms] ERMEHAE | K | 0.75 226 200 200 200
ARG (K - ERHOIEIEY EREIE| 0.75 100 100

65




U B —

BOAT %
<51 | Ko PEFRI . p—_—_—— JU— P . EXE ]
FIpRA s s — | BFERI i 2 6,028 | * 3200 | 2 3,899 3,400 3,600 3,800
BEREAK] 2 1,600 | ek 2 2,300 3,000
FEERS — i 2 850 800 2 1,056 800 900 1,000
BERERIR] 2 400 2 600 800
SiEY |0 | 2 4,444 | * 2,800 2 2,643 2,600 2,600 2,600
wEREE 2 1,400 |weEAA] 2 1,800 2,200
—f% 1 370 | * 200 1 220 200 200 200
TEB)Y (i) — % 2 12,057 | * 6,400 | —fi% 2 15,862 6,800 7,200 7,600 | EFERIG D215
wEEE 2 3200 |memEik| 2 4,600 6,100
TEB) () — 2 6,028 | * 3200 | —fi% 2 7,931 3,400 3,600 3,800 | BrEkG L (A%
BwEEE] 2 1,600 | werEAA| 2 2,300 3,000
B — i 2 850 800 | —fi 2 5,216 800 900 1,000 |FEERS &[R4
BwEEE 2 400 |teemAlk| 2 600 800
R (421) ] | —i 2 18,051 | 5100 | —fi% 2 7,931 6,000 6,900 7,900
HEEAR] 2 2550 | mamik| 2 4,300 6,100
R C ) O | i 2 9,025 | * 2500 | —f% 2 3,965 2,900 3,400 3,900
BwEEE 2 1,250 | ek 2 2,100 3,000
RERE(1/30) | ¥ | ik 2 6,017 | * 1,700 | —i% 2 2,643 2,000 2,300 2,600
BEEE 2 850 |txekmAlk| 2 1,400 2,000
REEE(1/4m) | S¥E10 | R 2 4,512 | * 1,200 | —mx 2 1,982 1,400 1,600 1,900
BwEEK 2 600 |txekmAlk| 2 1,000 1,400
REEE(1/60) | S¥E10 | iR 2 3,008 | * 800 | —fi 2 1,321 900 1,100 1,300
BEER 2 400 |trekmAlk| 2 700 1,000
RHEHE R EIN| 1(7] 253 200 18] 295 200 200 200 |5047 1E1ANE ] — 1FI20 ]
WU 115] 126 100 1] 147 100 100 100 |57 1 4R — 1 1200
AMEEE () | SR | iR 2 5,415 | * 1,600 | —fi% 2 4,430 1,900 2,200 2,600 | PR fF (4 01/3
Bk 2 800 |mxekmlk| 2 1,400 2,000
AMEEE CEmE) | 5810 3 2 2,707 | * 800 - 2 2,215 900 1,100 1,300
BEEK 2 400 | ekl 2 700 1,000
IMEEE RN 1[7] 253 200 18] 295 200 200 200 |47 1EIARE I — 1EI 205 ]
LU 1A 126 100 1] 147 100 100 100 |57 1A — 1 205
AT —L 5810 % 2 6,262 6,000 A% 2 6,458 6,000 6,000 6,000
BwEEE 2 3000 |mekmEik| 2 4,000 5,000
(RN 1 394 | * 250 1 269 250 250 250
i ORA) 1 197 | * 130 1 134 130 130 130
R—=2 L2 1 400 400 1[] 392 400 400 400
Z—NR—V —% 1 188 200 | 1 188 200 200 200
wEEE 1 100 | ek 1 100 100
B —i 1 1,094 1,000 | —ii% 1 1,055 1,000 1,000 1,000
BwEEE 1 500 |sekiAck| 1 600 800
B —i 1 1,094 1,000 | —ii% 1 1,055 1,000 1,000 1,000
BEEE 1 500 |sekiAtk| 1 600 800
AR [RERE () FOY | ik 2 12,636 | * 3300 | —fi% 2 5,916 4,100 5,000 5,900
BRERERIR| 2 1,650 2 3,000 4,400
R Cl ) B | ik 2 6,318 | * 1,600 2 2,958 2,000 2,400 2,900
BwEEE 2 800 2 1,500 2,200
RER(1/4i) | 5610 | ik 2 3,159 | * 800 2 1,479 1,000 1,200 1,400
BEEE 2 400 2 700 1,000
R M (RA) 1[5] 253 200 L& 295 200 200 200 |H47 1[4 — 1 [E205 )
N JIE] 126 100 1] 147 100 100 100 | SL7 11— 1 20
AMEEE (2 | Y | iR 2 1,805 | * 800 | —fi% 2 1,780 1,000 1,200 1,400 | A7 £ (42i00) 0 1/4
BwEEE 2 400 |teemAlk| 2 700 1,000
IMEERE RHEIN] 1[8] 253 200 1[a] 295 200 200 200 |H47 1 [E4#F— 1 [2H
—HUIA) iG] 126 100 10 147 100 100 100 | HL7 14— 1 20
IKTERELE IR (42 e | ik 2 12,636 | * 3300 | % 2 5,916 4,100 5,000 5,900
BEEK 2 1,650 | warEA| 2 3,000 4,400
R Clm) g0 | 2 6,318 | * 1,600 | —fi% 2 2,958 2,000 2,400 2,900
wEEE 2 800 |txekmlk| 2 1,500 2,200
RERE(1/4mE) | F¥E10 W 2 3,159 | * 800 - 2 1,479 1,000 1,200 1,400
BwEEE 2 400 |reekmAlk| 2 700 1,000
IR — (KA 117] 253 200 119] 295 200 200 200 | 5147 1AM — 1FI20 ]
EORA) 111 126 100 101 147 100 100 100 |57 1 4R — 1 12050
IMEEE (E) | 0 W 2 1,805 | * 800 - 2 1,780 1,000 1,200 1,400 |IAERE(4iH) 01/4
BEEK 2 400 |mekElk| 2 700 1,000
IMEEBE i RN 1[A] 253 200 1[a] 295 200 200 200 | 547 L[4 R — 1 [E205
LU 1] 126 100 1] 147 100 100 100 |57 1A — 1 20
IEY (42) h=g=il) % 2 5,415 | * 1,600 S 2 3,557 1,900 2,200 2,600 | L3 MAH R
BEEK| 2 800 [mekmAlk| 2 1,400 2,000
HIE S () 5510 % 2 2,707 | * 800 - 2 1,778 900 1,100 1,300
BEEE 2 400 |mekmalk| 2 700 1,000
R iz (R A) 1m] 253 200 1[] 295 200 200 200 | 5177 1l i — 11205 ]
AU 1] 126 100 1] 147 100 100 100 | HLF7 LI — 1 2R
HRmE i 1 703 700 | A 1 678 600 600 600
BEEE 1 350 |teemAlk| 1 400 500
B —fi 1 547 500 | —f% 1 527 500 500 500
BEEE 1 250 |teekmAlk| 1 300 400
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BOAT %
EAY AL 4= L | e 4= | FAY . . e - EREC] o
WESFREE | RE(Rm) | S | ik 2 2,893 2800 - - - = || BEPRE) |acsi b R
BEEE] 2 1400 - - - - - BURDHBEIEICTE
RTRE Cleii) | 0 | 2 1,446 1400 - - - = || BEPTE) |acseiope s R
wREE| 2 700 - - - - 7 HUEO Mk & 30
KR (1/41) | 55600 | ik 2 723 700 - - - - || (BREF ) |uscsicis ot IR
wREE| 2 350 - - - - 7 HUBEO Mk 3
R (KA iG] 253 200 - - - - =[| BREFTE) |ascsicrs oot L IR
—ROPN) IE] 126 10 - - - - | @E&EF ) ok ERE
ERRS I 2 850 800f - - - - || BEPTE) |acsei bk FR
wREE| 2 200 - - - - 7 U fi A B
KEHIFRTEEE | REE (40 o0 | i 2 12,636 | 3300 | —fi% 2 5,916 4,100 5,000 5,900
BwEEE 2 1,650 |tarEAL| 2 3,000 4,400
IR (i) B | ik 2 6,318 | * 1,600 | —ix 2 2,958 2,000 2,400 2,900
BwEEE 2 800 [trekmAlk| 2 1,500 2,200
REEE(1/4i) | 5F610 | iR 2 3,159 | * 800 | —fi% 2 1,479 1,000 1,200 1,400
BwEEE 2 400 |teekmAlk| 2 700 1,000
RERE (KA 108 253 200 1[a] 295 200 200 200 |H47 1m14R5E - 1mI2k5E
UM J1E] 126 100 1] 147 100 100 100 | HL7 14— 1 20
IMEEE (420) | S0 | ik 2 1,805 | 800 | —fi% 2 1,780 1,000 1,200 1,400 | (A& AH(AED) O1/4
BwEEK 2 400 |tcekmAk| 2 700 1,000
IMATEE (KA 108 253 200 1] 295 200 200 200 | 5147 1AM — 1EI204 ]
—HEUIA) 115] 126 100 1] 147 100 100 100 |57 1 4R — 1 1200
HIE S (421 B | 2 2,707 | * 800 | % 2 1,778 900 1,100 1,300 KSR (i) LI
BEEE 2 400 |mekmk| 2 700 1,000
L) (KA 108 253 200 10 295 200 200 200 |5147 AN — 1EI20 ]
—HEUIA) 18] 126 100 1] 147 100 100 100 |57 1 EI4IERT—1 FE120E0
AT — jesl] M 2 6,262 6,000 3 2 6,458 6,000 6,000 6,000
BEEK 2 3000 |mekmEik| 2 4,000 5,000
iz (RN 1 394 | * 250 1 269 250 250 250
iECRA) 1 197 | = 130 1 134 130 130 130
f—=F L — 2 1A 400 400 15| 392 400 400 400
KIRAERE IR (4 510 % 2 2,893 2,800 S 2 2,877 1,400 1,400 1,400 |He& 451k frk i >R
BwEEE 2 1,400 | werEK| 2 1,400 1,400
R () 5810 % 2 1,446 1,400 A 2 1,438 700 700 700 | K i o> X
BEEK 2 700 |#eER] 2 700 700
KR (1/30) | 5610 | ik 2 900 900 | —f% 2 949 400 400 400 [HeEFiL iz > iR
BwEEK 2 450 |wrekmAk| 2 400 400
R W) 1m 253 200 1] 143 100 100 100 |*E 4L fiic > Sk
B UIA) 18] 126 100 1[8] 71 50 50 50 | k&N hiiRIc > S
FePEEy |5k —fi 2 6,028 | * 3,200 2 3,899 3,400 3,600 3,800
wEREE 2 1,600 2 2,300 3,000
TEB)Y (42r) — % 2 12,057 | * 5100 | —fi% 2 15,862 5,400 5,700 6,000 |EFERID1. 61
BwEEE 2 2,550 | sekiitk| 2 3,700 4,800
TEBY (i) — % 2 6,028 | * 3200 | 2 15,862 3,400 3,600 3,800 | Bk &A%
BwEEE 2 1,600 |waEAA| 2 2,300 3,000
Fis ARTEEN Ligaer) — i 2 6,028 | * 3200 | —fi% 2 3,899 3,400 3,600 3,800
BwEEE 2 1,600 |tarEAA| 2 2,300 3,000
JEERY; —fi 2 850 800 | —fi% 2 1,056 800 900 1,000
BwEEE 2 400 |teekmAlk| 2 600 800
P 8 R B ER S | B BR —fi¥ 2 6,028 | * 3200 | —fi% 2 3,899 3,400 3,600 3,800
BwEEE 2 1,600 |werEAA| 2 2,300 3,000
VSRR R | EBR 555 —i% 2 850 800 | —fi 2 1,056 800 900 1,000
HEEE 2 400 |teekmAlk| 2 600 800
BILARESN S | kY —fi 2 3,014 | 3k 2500 | —fi% 2 2,660 2,500 2,500 2,600
BEEE 2 1,250 |warEAl 2 1,700 2,100
TEAROFRA BT | HEB) 5 — % 2 3,014 | * 2,500 | —f% 2 2,660 2,500 2,500 2,600
BEEE 2 1,250 | warEA| 2 1,700 2,100
FERAR AR | KA T8 (i) R 2 10,035 10,000 3 2 10,851 10,000 10,000 10,000
BEEK 2 5000 | &aEER 2 6,600 8,300
TR TR CF-if) % 2 5,017 5000 | % 2 5,425 5,000 5,000 5,000
TkER 2 2500 | ek 2 3,300 4,100
FAOD B LN BEER 5 | BEER 555 & 2 850 800 i 2 1,056 800 900 1,000
BEER 2 400 | ekl 2 600 800
AR — L |7 — L iz (A 2 640 | * 400 2 495 400 400 400
iECRA) 2 320 | * 200 2 247 200 200 200
®) % 1 17,290 | * 15,000 - 1 15,000 15,000 15,000 15,000
wEEE] 1 7,500 | kM| 1 10,000 12,500
W43 R0 27— | 7P — L L EIN} 2 640 | * 400 2 495 400 400 400
iEORA) 2 320 | 200 2 247 200 200 200
8| % 1 17,290 | * 15,000 | % 1 15,000 15,000 15,000 15,000
BEEE 1 7,500 |grEE| 1 10,000 12,500
R AT — VIR T — v i (RN 1 394 | * 250 1 269 250 250 250
AU 1 197 | * 130 1 134 130 130 130
00 | ik 2 6,262 6,000 | —i 2 6,458 6,000 6,000 6,000
BwEREE 2 3000 | wmamik| 2 4,000 5,000
BT —n iRk T— (KA 1 394 | * 250 1 269 250 250 250
WO 1 197 | * 130 1 134 130 130 130
g | 2 6,262 6,000 | —fi% 2 6,458 6,000 6,000 6,000
wEEE 2 3000 | mekmik| 2 4,000 5,000
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U B —

BOAT %
AN ING = yal. | s /= sy ING . . e - EREC] o
AT — 3,000 15 i1 1 2,500 | * 2,500 1 2,500 2,500 2,500 2,500
1,5000 6 %5 1 1,250 | * 1,250 1 1,250 1,250 1,250 1,250
TREAR GG (BrEk) | MRPTR G (B ER) —fi 1 3,258 3,200 1 2,661 2,600 2,600 2,600
e BEEE 1 1,600 1 2,600 2,600
TR GEEh | Mo GBS - 42ii) — i 1 6,400 6,400 | —fik 1 5,323 5,200 5,200 5,200 |1 BRI D265
) TEHER waEE 1 3200 |wsrmk] 1 5,200 5,200
TR GBS, - °F1f) — 1 3,200 3,200 | —fi% 1 2,661 2,600 2,600 2,600 |%7Ek L (RI%E
wEEE 1 1,600 |wrérAA| 1 2,600 2,600
TR BR 2 fi (reEkeg) |PRBHRR G (REERSS) —f% 1 258 200 | —fik 1 265 200 200 200
IR R AR wiEE 1 100 |wormk] 1 200 200
TREA R (/N ) | P (1) 5) —i 1 258 200 | —f 1 265 200 200 200 |FEER S &A%
%) B wEEE 1 100 | sk 1 200 200
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ey Yo A i R
FRIESERR R AR 2741 LA LI

BLAT % E
_— - IR T by | e | BUTHORE s | R | B | | doein | doepem
SHEAE (M) | #EFn (M) S HEAE (1) (M)

B RS BR | R | s GREREP) 22,615 | * 1,800 | —f% 1 551 500
TG ER A | 111 (SRERTLAP) 0 | B &kE Ik 1 551

wWH | M | GRER ) 16,961 | 3,100 | —i% 1 551 500
TG ER A | 11 (SRERILAP) 0 | B &kEIR 1 551

e B | | e GRS 3,768 | 1800 | —f% 1 224 200
TG ER A | 11 (SRR LA 0 | B EkEIk 1 224

W | | GEER ) 5,024 | 3100 | —ii% 1 224 200
SRR A | 11 (SRERTLLA) 0 | B ExEIIR 1 224

Yo maea (g | BRI | o EGEmme) 1,876 | = 500 | —fi% 1 142 100
FHRAEEET) T ) o |wmml 1 142

W | [ GasR L) 1,407 | = 1,200 —f% 1 142 100
BRI | 11E] (SRS LAP) 0 | & EkEIR 1 142

JEEER — — — -l 1 107 100
— — —|&a@Ek] 1 107

TR | 5 R /N wH | 1 585 500 | —fi% 1 271 200
AREEfR 1 250 |wexmk 1 271

Bl R —fi% 1 1,024 1,000 | —% 1 844 800
HGRER 1 500 |wexmAk| 1 844

TGN - 1 951 900 % 1 784 700
BERER A 1 450 | ek 1 784

A AR — % 1 1,024 1,000 | —f% 1 844 800
BERER 1 500 | &kl 1 844
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F BOSMEE Pt s 8 PR — 5

BT % E
W 87 S P R PLTMTIS B | RO iy | | wn| ST U s wif%%ﬂ
FlE B o — | 1 R P &’ | 3 1,173 1,100 I — 2 754 700 700 700
” ” FRERE A 3 550 2 600 600
" " R — % - RS ERMEAE —i | 0.75 282 200 200 200
1 1 LTSS - ERHOITIEY #aEk| 0.75 100 100
2GR P & | 3 1,173 1,100 i — 2 754 700 700 700
[ I ek 3 550 wEEk 2 600 600
[ 1 I it - wRHoIERS | SRR i |0.75 282 200 200 200
” " - EAHOIEEY kK| 0.75 100 100
O S P wE | 3 703 700 I —i 2 452 400 400 400
[ I ek 3 350 Mk 2 300 300
" " T[] fi - R oEEs | 155k % | 0.75 169 100 100 100
” ” BakE - BEAHOIEIEY BakEIAR| 0.75 100 100
% HIE fEEE KM A% 3 7,507 7,500 | - 2 4,825 4,800 4,800 4,800
[ 1 BEEE| 3 3,750 waEkl 2 4,100 4,400
[ [ WEEE| i - swAsosEias | ERWHE % |0.75 1,809 1,800 1,800 1,800
[ [ BREE - ERHOITIEL B 0.75 1,300 1,500
DIPS LIk |HERE ES Rl B 3 586 500 PRI M 3 565 500 500 500
[ [ wEEk| 3 250 BEREE| 3 300 400
" " T — 4 782 700 | reoRvrRe | —f% 2 377 300 300 300
[ [ wEEkl 4 350 BEREE| 2 200 200
" i wH | ik 3 586 500 I — 2 377 300 300 300
[ [ wEEE| 3 250 wEEE| 2 200 200
[ I | - R oIsEs | TR R i |0.75 141 100 100 100
" " BERE - BRAHOIBHEL BEEA| 0.75 100 100
I PREE FET | i 3 1,173 1,100 PRl — 3 1,131 1,100 1,100 1,100
[ [ BwEEE| 3 550 wEEE| 3 700 900
" " T | 4 1,564 1500 | reonorue| —f 2 754 700 700 700
[ [ BEEIK| 4 750 WERER| 2 400 500
i i "W | 3 1,173 1,100 H[H] o 2 754 700 700 700
[ [ ek 3 550 wekER| 2 600 600
I 1 | —ik - wAHosEHES | R EAE —A% |0.75 282 200 200 200
[ [ BRGRE - ERHOIEIR BEREIK| 0.75 100 100
DIPS T | R AL PR | 3 703 700 ERill — 3 678 600 600 600
I I ek 3 350 wikEK| 3 400 500
l l FigE | i 4 938 900 | reoxcs —i 2 452 400 400 400
n 1 a4 450 TwEkER| 2 200 300
l i w | 3 703 700 b — ik 2 452 400 400 400
[ 1 k| 3 350 Bk 2 300 300
[ " R — AR - wRHosES | SRR i |0.75 169 100 100 100
I I LTS3 - ERH IR #aEk| 0.75 100 100
[ sz CER | A 3 1,173 1,100 LS — 3 1,131 1,100 1,100 1,100
[ I k| 3 550 k| 3 700 900
" " F14 — 4 1,564 1,500 | #rorvree| —i% 2 754 700 700 700
[ I Mk 4 750 Mk 2 400 500
i " I i 3 1,173 1,100 wH 3 2 754 700 700 700
[ I BEEE 3 550 BEEE| 2 600 600
[ [ W iR - wRHoIES | SRR i | 0.75 282 200 200 200
[ 1 HRGKE - EAHOIEIEL BEREE| 0.75 100 100
DI 75 i BR=E FE ZERi 83 3 351 300 ERil] i 3 339 300 300 300
[ [ wEREE| 3 150 BEREE| 3 200 200
” " itk % 4 469 400 | FrorUFED % 2 226 200 200 200
[ [ wEEkl 4 200 wEEKl 2 100 100
i " wH | ik 3 351 300 I — % 2 226 200 200 200
[ [ wEEkl 3 150 BEREE| 2 100 100
" " BERRARE | —h% - wasossiEy | AERME R —f% | 0.75 84 100 100 100
n n R IR - AR DIEEY &M 0.75 100 100
l PRE RV 4 3 1,055 1,000 il —fi% 3 1,017 1,000 1,000 1,000
[ n waEkl 3 500 waEkl 3 600 800
" " 4 —H% 4 1,407 1,400 | reororee | —fik 2 678 600 600 600
[ [ BEE] 4 700 BwEEK| 2 400 500
" " W | 3 1,055 1,000 I o 2 678 600 600 600
[ [ BEEK| 3 500 WERER| 2 500 500
" " REREE | % - wRsoOsEEs | EREAE —fk | 0.75 254 200 200 200
” " FRERE A - FEAHOIENEY RErEE| 0.75 100 100
WHPHYR PIkE S ANE (SR FAIE AT | MR 3 586 500 PRl —x 3 565 500 500 500
[ [ BERER| 3 250 ekl 3 300 400
1 l e | 4 782 700 | FrororE | —f% 2 377 300 300 300
1 I ek 4 350 wikEK| 2 200 200
l i &’ | 3 586 500 [ — ik 2 377 300 300 300
[ 1 ek 3 250 ek 2 200 200
[ " R — A% - wRHOIERS | ERMEAE —i |0.75 141 100 100 100
I I L TsiliS - ERHOIEIEL #eEK| 0.75 100 100
[ Pz JER | A 3 1,173 1,100 2T —i 3 1,131 1,100 1,100 1,100
[ I Mk 3 550 Mk 3 700 900
" " 4% i3 4 1,564 1,500 | ForvriEe fi% 2 754 700 700 700
[ I Bk 4 750 Mk 2 400 500
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F BOSMEE Pt s 8 PR — 5

BT % E
W 87 S P R PLTMTIS B | RO iy | | wn| ST U s wif%%ﬂ
WHPHYI PIRE AN (SR P & | 3 1,173 1,100 I — 2 754 700 700 700
” ” FRERE A 3 550 2 600 600
" " R — % - RS ERMEAE —i | 0.75 282 200 200 200
1 1 LTSS - ERHOITIEY #aEk| 0.75 100 100
% HIE P TR | R 3 938 900 ZFRT — i 3 904 900 900 900
[ I ek 3 450 wEEk| 3 600 700
l l Fig | 1 1,251 1,200 — i 2 603 600 600 600
[ I k| 4 600 Mk 2 400 500
l " w | 3 938 900 I —i 2 603 600 600 600
[ I ek 3 450 Mk 2 500 500
" " T[] fi - R oEEs | 155k % | 0.75 226 200 200 200
” ” BakE - BEAHOIEIEY BakEIAR| 0.75 100 100
PIPIBIE R | ERE = FRl - 3 938 900 ERil] - 3 904 900 900 900
[ 1 BEEE| 3 450 BEEE 3 600 700
n 1 % 8.4 4 1,251 1,200 | rororEe| i 2 603 600 600 600
” [ BEREE 4 600 BEREE 2 400 500
i " I -fi% 3 938 900 I - 2 603 600 600 600
[ [ BEREE| 3 450 BERE| 2 500 500
[ 1 WEEE| —ik - Ao | TR AR % |0.75 226 200 200 200
" " BERE - BEAHOIEIEY BEEK| 0.75 100 100
U P FET | i 3 938 900 “FRif — 3 904 900 900 900
[ [ wEEE| 3 450 wEEE| 3 600 700
” " T4 — 4 1,251 1,200 | reororee | —f% 2 603 600 600 600
[ [ waEkl 4 600 waEkl 2 400 500
i i wH | ik 3 938 900 [ — 2 603 600 600 600
[ 1 BwEEE| 3 450 BwEEE| 2 500 500
" " mERE | % - wasossiEs | AR R —i% | 0.75 226 200 200 200
[ [ FRGRE - EFHOIEEL BeEIR| 0.75 100 100
DS M AL |HERE PEER1 FET | i 3 1,055 1,000 ERi) —ix 3 1,017 1,000 1,000 1,000
[ [ ek 3 500 wikER| 3 600 800
" " ik — % 4 1,407 1,400 | Feororee | —fi% 2 678 600 600 600
[ [ BERER| 4 700 waEkl 2 400 500
l i wH | 3 1,055 1,000 i [H —fi% 2 678 600 600 600
I n ek 3 500 wikE| 2 500 500
[ I | A wRHOIERS | LR AE A |0.75 254 200 200 200
n n XapiliN - BAHOIEIEY &R 0.75 100 100
[ PEER2 | 3 703 700 ZFRT — i 3 678 600 600 600
[ 1 k| 3 350 Bk 3 400 500
" ” 7 i 4 938 900 | reorvrre | —i% 2 452 400 400 400
[ I a4 450 wEEk 2 200 300
i " w/ | 3 703 700 I — % 2 452 400 400 400
[ I k| 3 350 Mk 2 300 300
" " M| — % - wAgosatas| iERMEAE —f% | 0.75 169 100 100 100
I I LTSS - ERHOEIEL #aEk| 0.75 100 100
” PEE (A ZERiT i 3 1,642 1,600 2T i3 3 1,583 1,500 1,500 1,500
[ 1 BEEE 3 800 BEEA 3 1,000 1,200
n [ 4% W 1 2,189 2,100 | Fionorine | —f 2 1,055 1,000 1,000 1,000
[ 1 BEEE| 4 1,050 BEEE| 2 600 800
i " I B3 3 1,642 1,600 wIH 83 2 1,055 1,000 1,000 1,000
1 [ wEREE| 3 800 BEREE 2 800 900
" " mERAEE | % - wRAsosEms SRR ik | 0.75 395 300 300 300
[ [ HRGE - ERHDIEHEY BEREE| 0.75 200 200
Fi P ERIT 4 3 1,055 1,000 ’FHT —fi% 3 1,017 1,000 1,000 1,000
[ [ wEEkl 3 500 wEREE 3 600 800
" " 4 —H% 4 1,407 1,400 | reororee | —fik 2 678 600 600 600
[ [ wEE| 4 700 BEEE| 2 400 500
n " | 3 1,055 1,000 I o 2 678 600 600 600
[ n waEkl 3 500 wEEkl 2 500 500
" " BERRARE| A% - wmsossiEy | AERML AR —i% | 0.75 254 200 200 200
[ [ ARG - ERH DI HEEK| 0.75 100 100
DIPHIKREHIA  |ERE PEEL PR | 3 1,173 1,100 ERi) —fi% 3 1,131 1,100 1,100 1,100
[ [ BEEK| 3 550 WERER| 3 700 900
” " 4 — % 4 1,564 1,500 | reororEe | i 2 754 700 700 700
[ [ K| 4 750 wekER| 2 400 500
i i wM | 3 1,173 1,100 H[H —fik 2 754 700 700 700
[ [ BERER| 3 550 waEkl 2 600 600
I [ s — ik - wAHosES | LR AL A |0.75 282 200 200 200
I I TSl - ERH IR #eMEk| 0.75 100 100
" P2 FET | 3 469 400 PRl —fi% 3 452 400 400 400
[ I ek 3 200 ek 3 200 300
[ [ Fih | 4 625 600 —i 2 301 300 300 300
[ I Bk 4 300 Bk 2 200 200
" " w | 3 469 400 #H —ix 2 301 300 300 300
[ I Mk 3 200 Mk 2 200 200
" " I )30 24 - R ozEs | 1Bk % |0.75 113 100 100 100
I I LTS - ERHOIEIEL #eEK| 0.75 100 100
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F BOSMEE Pt s 8 PR — 5

BT % E
W 87 S P R PLTMTIS B | RO iy | | wn| ST U s wif%%ﬂ
DIPS FEAEA = il PR | i 3 469 400 PRl —x 3 452 400 400 400
1 [ ek 3 200 ek 3 200 300
1 " T | 4 625 600 — ik 2 301 300 300 300
[ 1 a4 300 wEEk| 2 200 200
l i w | 3 469 400 I —i 2 301 300 300 300
[ 1 ek 3 200 wEEk 2 200 200
" " e i - wmsosaEs | IERAE T % | 0.75 113 100 100 100
1 I TSl - ERHOIEIEL #akMk| 0.75 100 100
[ Pz R | 3 1,173 1,100 i —i 3 1,131 1,100 1,100 1,100
[ I ek 3 550 Mk 3 700 900
1 1 4% ke 4 1,564 1,500 | reoxorEe e 2 754 700 700 700
[ I BEEE| 4 750 BEEE| 2 400 500
i " I A% 3 1,173 1,100 &I - 2 754 700 700 700
[ 1 BEEE| 3 550 BEREE| 2 600 600
" " B ik - wRnosEms | SRR ik | 0.75 282 200 200 200
[ [ BREE - ERHOITIEL B 0.75 100 100
DHPH I FfE R = ERD) -fi% 3 586 500 ZERi A% 3 565 500 500 500
[ [ BEREE| 3 250 BEREE| 3 300 400
" " T — 4 782 700 | reoRvrRe | —f% 2 377 300 300 300
[ [ wEEkl 4 350 BEREE| 2 200 200
" i wH | ik 3 586 500 I — 2 377 300 300 300
[ [ BEEE| 3 250 wEEE| 2 200 200
[ I | - R oIsEs | TR R i |0.75 141 100 100 100
" " BERE - BRAHOIBHEL BEEA| 0.75 100 100
u e TR | R 3 821 800 i — 3 791 700 700 700
[ [ BwEEE| 3 400 wEEE| 3 500 600
" " T | 4 1,094 1,000 | reorvrwe | —fik 2 527 500 500 500
[ [ BEEIK| 4 500 WERER| 2 300 400
i i "W | 3 821 800 H[H] o 2 527 500 500 500
[ [ ek 3 400 wekER| 2 400 400
I 1 | —ik - wAHosEHES | R EAE —A% |0.75 197 100 100 100
[ [ BRGRE - EFHOIEIEL BEREIK| 0.75 100 100
DHPI KA HEoE AL PR 3 703 700 ERill — 3 678 600 600 600
I I ek 3 350 wikEK| 3 400 500
l l FigE | i 4 938 900 | reoxcs —i 2 452 400 400 400
n 1 a4 450 ek 2 200 300
l i w | 3 703 700 b — ik 2 452 400 400 400
[ 1 k| 3 350 Bk 2 300 300
[ " R — AR - wRHosES | SRR i |0.75 169 100 100 100
I I LTS3 - ERH IR #aEk| 0.75 100 100
[ sz CER | A 3 1,173 1,100 LS — 3 1,131 1,100 1,100 1,100
[ I k| 3 550 k| 3 700 900
" " F14 — 4 1,564 1,500 | #rorvree| —i% 2 754 700 700 700
[ I Mk 4 750 Mk 2 400 500
i " I i 3 1,173 1,100 wH 3 2 754 700 700 700
[ I BEEE 3 550 BEEE| 2 600 600
[ [ W iR - wRHoIES | SRR i | 0.75 282 200 200 200
[ 1 HRGKE - EAHOIEIEL BEREE| 0.75 100 100
DI I EAE HEaE 1 i A 3 1,173 1,100 ZERi B3 3 1,131 1,100 1,100 1,100
[ [ wEREE| 3 550 BEREE| 3 700 900
” " itk % 4 1,564 1,500 | Feororize % 2 754 700 700 700
[ [ wEEkl 4 750 BEREE| 2 400 500
i " wH | ik 3 1,173 1,100 wIH 3 2 754 700 700 700
[ 1 wEEkl 3 550 BEREE| 2 600 600
" " BERRARE | —h% - wasossiEy | AERME R —f% | 0.75 282 200 200 200
n n R IR - AR DIEEY &M 0.75 100 100
l PRE2 PR | R 3 469 400 il —i 3 452 400 400 400
[ [ waEkl 3 200 waEkl 3 200 300
" " 4 —#% 4 625 600 | reororEe | i 2 301 300 300 300
[ [ HEEE 4 300 BwEEK| 2 200 200
" " W | 3 469 400 [ o 2 301 300 300 300
[ [ BEEK| 3 200 WERER| 2 200 200
[ n WS iR - wAHosEHES | R AR A% |0.75 113 100 100 100
” " FRERE A - FEAHOIENEY RErEE| 0.75 100 100
I PESE AT PR R 3 1,876 1,500 ERT) —x 3 1,809 1,500 1,500 1,500
[ [ BERER| 3 750 ekl 3 1,000 1,200
1 l e | 4 2,502 2,100 | Fieomorie | —fi 2 1,206 1,000 1,000 1,000
1 I ek 4 1,050 wikEK| 2 600 800
l i &’ | 3 1,876 1,500 I — ik 2 1,206 1,000 1,000 1,000
[ I ek 3 750 ek 2 800 900
[ " R — A% - wRHOIERS | ERMEAE —i |0.75 452 400 400 400
I I L TsiliS - ERHOIEIEL #eEK| 0.75 200 300
DHPH 411 ER=E e Rl | 3 1,407 1,400 ERil] —ix 3 1,357 1,300 1,300 1,300
[ I Mk 3 700 Mk 3 900 1,100
" " 4% i3 4 1,876 1,800 | rorvriEe fi% 2 904 900 900 900
[ I Bk 4 900 Mk 2 600 700
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F BOSMEE Pt s 8 PR — 5

BT % E
e, st pn | ez | B g e | BOEETE BN BEERR wpcy | oy | e ST BRI w26 wif%%ﬂ
D554 I1fi = 1 & | 3 1,407 1,400 I — 2 904 900 900 900
” " FRERE A 3 700 2 700 800
" " R — % - RS ERMEAE —i | 0.75 339 300 300 300
1 1 LTSS - ERHOIBIEL #aEk| 0.75 200 200
" P2 TR | R 3 1,055 1,000 ERill — ik 3 1,017 1,000 1,000 1,000
[ I ek 3 500 wEEk| 3 600 800
l l Fig | 1 1,407 1,400 — i 2 678 600 600 600
[ I k| 4 700 Mk 2 400 500
l " w | 3 1,055 1,000 I —fi 2 678 600 600 600
[ I ek 3 500 Mk 2 500 500
" " 1 )3 14 - R oEEs | 155k % | 0.75 254 200 200 200
” ” BakE - BEAHOIEIEY BakEIAR| 0.75 100 100
[ PEsE— (R L) - 3 2,580 2,400 ERT) W 3 2,488 2,300 2,300 2,300
[ I BEEE| 3 1,200 BEEE 3 1,500 1,900
n 1 % M 4 3,440 3,200 | Frororne | —f 2 1,658 1,500 1,500 1,500
1 [ wEEKl 4 1,600 BEREE 2 1,000 1,200
1 I I - 3 2,580 2,400 | M 2 1,658 1,500 1,500 1,500
[ [ wEEk| 3 1,200 BERE| 2 1,300 1,400
[ I WEEE| —ik - Ao | TR AR % |0.75 622 600 600 600
" " BERE - BRABOIBHAL BEEK| 0.75 400 500
R— e R | i 3 3,519 3,500 TRl —x 3 3,393 3,300 3,300 3,300
[ 1 wEEE| 3 1,750 wEEE| 3 2,200 2,700
1 [ T | 4 4,692 4,600 | reororee| —ix 2 2,262 2,200 2,200 2,200
[ [ waEkl 4 2,300 waEkl 2 1,500 1,800
i " wH | ik 3 3,519 3,500 [ — 2 2,262 2,200 2,200 2,200
[ n BwEEE| 3 1,750 BwEEE| 2 1,900 2,000
[ n S| — iR - wAHosEHaS | LR MAE —#% |0.75 848 800 800 800
[ [ FRGRE - EFHOIEEL BeEIR| 0.75 600 700
DIPH R HEoE PEERL R | R 3 1,173 1,100 ERi) —ix 3 1,131 1,100 1,100 1,100
[ [ ek 3 550 MK 3 700 900
" " ik — % 4 1,564 1,500 | reeororee | —fi% 2 754 700 700 700
[ [ BERER| 4 750 BERE| 2 400 500
l i wH | 3 1,173 1,100 i [H — 2 754 700 700 700
I n ek 3 550 ek 2 600 600
[ I | A wRHOIERS | LR AE A |0.75 282 200 200 200
n n XapiliN - BAHOIEIEY &R 0.75 100 100
[ PEER2 | 3 703 700 ZFRT — i 3 678 600 600 600
[ 1 k| 3 350 Bk 3 400 500
" ” 7 i 4 938 900 | reorvrre | —i% 2 452 400 400 400
[ I a4 450 wEEk 2 200 300
i " w/ | 3 703 700 I — % 2 452 400 400 400
[ I k| 3 350 Mk 2 300 300
" " M| — % - wAgosatas| iERMEAE —f% | 0.75 169 100 100 100
I I LTSS - ERHOEIEL #aEk| 0.75 100 100
” PEE (A ZERT i 3 1,876 1,800 2T i 3 1,809 1,700 1,700 1,700
[ 1 BEEE 3 900 BEEA 3 1,100 1,400
n [ 4% W 1 2,502 2,400 | Fironorne | —f 2 1,206 1,100 1,100 1,100
[ 1 BEEE| 4 1,200 BEEE| 2 700 900
i " I B3 3 1,876 1,800 wIH 83 2 1,206 1,100 1,100 1,100
1 [ wEREE| 3 900 BEREE 2 900 1,000
" " mERAEE | % - wRAsosEms SRR ik | 0.75 452 400 400 400
[ [ HRGE - ERHDIEHEY BEREE| 0.75 300 300
DD L |ERE JLES R AR 3 586 500 “Fi — 3 565 500 500 500
1 n wEEkl 3 250 wEREE 3 300 400
" " 4 —#% 4 782 700 | reororEe | i 2 377 300 300 300
[ [ wEE| 4 350 BEEE| 2 200 200
" " | 3 586 500 el o 2 377 300 300 300
[ [ waEkl 3 250 wEEkl 2 200 200
" " BERRARE| A% - wmsossiEy | AERML AR —i% | 0.75 141 100 100 100
” l R R - AR OIEEY &M K| 0.75 100 100
1 PRE RV 4 3 1,173 1,100 il —fi% 3 1,131 1,100 1,100 1,100
[ [ BEEK| 3 550 BEEIK| 3 700 900
1 n | i 4 1,564 1,500 | riorvrie| ik 2 754 700 700 700
[ [ K| 4 750 HEEEK 2 400 500
i i wM | 3 1,173 1,100 H[H —fik 2 754 700 700 700
[ [ BERER| 3 550 BERE| 2 600 600
" " EEREE | —fi% - wmsostEs | ERE R —fi% | 0.75 282 200 200 200
I I TSl - EFHOIBIEL #eMEk| 0.75 100 100
DD i M I | R 1 TRl | R 3 1,642 1,600 PRl —fi% 3 1,583 1,500 1,500 1,500
[ I ek 3 800 ek 3 1,000 1,200
l " Tk | M 4 2,189 2,100 — i 2 1,055 1,000 1,000 1,000
[ I Bk 4 1,050 Bk 2 600 800
” " wH | 3 1,642 1,600 &I — % 2 1,055 1,000 1,000 1,000
[ I Mk 3 800 Mk 2 800 900
" " I )30 24 - R ozEs | 1Bk % | 0.75 395 300 300 300
I I LTS - ERHOIEIEL #eEK| 0.75 200 200
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F BOSMEE Pt s 8 PR — 5

A % E
e, st pn | ez | B g e | BOEETE BN BEERR wpcy | oy | e ST BRI w26 wif%%ﬂ
DS i M A | R P2 TR | 3 1,173 1,100 PRl — ik 3 1,131 1,100 1,100 1,100
1 1 ek 3 550 ek 3 700 900
1 " Fih | 4 1,564 1,500 — i 2 754 700 700 700
[ 1 a4 750 wEEk| 2 400 500
l i w | 3 1,173 1,100 i —i 2 754 700 700 700
[ 1 ek 3 550 wEEk 2 600 600
" " e i - wmsosaEs | IERAE T % | 0.75 282 200 200 200
[ [ TSl - ERHOIEIEL #akMk| 0.75 100 100
[ PEsE— (R R 3 3,049 2,700 i — i 3 2,940 2,600 2,600 2,600
[ I ek 3 1,350 Mk 3 1,700 2,100
n 1 244 W 4 4,066 3,600 | riomoree| % 2 1,960 1,700 1,700 1,700
[ 1 BEEE| 4 1,800 BEEE| 2 1,100 1,400
i " I A% 3 3,049 2,700 &I - 2 1,960 1,700 1,700 1,700
[ 1 BEEE| 3 1,350 BEREE| 2 1,400 1,500
" " B ik - wRnosEms | SRR ik | 0.75 735 700 700 700
[ [ BREE - ERHOITIEL B 0.75 500 600
DHPHPEHAE R = ERD) -fi% 3 351 300 ZERi A% 3 339 300 300 300
n [ BEREE| 3 150 BEREE| 3 200 200
" " T — 4 469 400 | rororse | —i% 2 226 200 200 200
n [ wEEkl 4 200 wEEkl 2 100 100
" i wH | 3 351 300 wIH —fi% 2 226 200 200 200
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